Chapter 1: Introduction to Mergers, Acquisitions, and Other Restructuring Activities
Answers to End of Chapter Discussion Questions

1.1       Discuss why mergers and acquisitions occur.

Answer:  The primary motivations for M&As include an attempt to realize synergy by combining the acquiring and target firms, diversification, market power, strategic realignment, hubris, buying what are believed to be undervalued assets, so-called agency problems, managerialism, and tax considerations.  Synergy is the notion that combining two firms results in a valuation of the combined firms that exceeds the sum of the two firms valued on a standalone basis.  Synergy represents the incremental cash flows only achievable by combining the acquirer and target firms. Synergy is often realized by achieving economies of scale, the spreading of fixed costs over increasing levels of production, or economies of scope, the utilization of a specific set of skills or an asset currently employed to produce a specific product to produce related products.  Financial synergy represents another source of increased value that may be realized by lowering the combined firm’s cost of capital if the new firm experiences lower overall transaction costs in raising capital and a better matching of investment opportunities with internally generated funds.  Diversification may be either related or unrelated.  Both forms represent an effort by the acquirer to shift assets away from a lower growth, less profitable focus to a higher growth, potentially more profitable area.   Strategic realignment represents a radical departure from a firm’s primary business to another area of focus often because of changes in regulations or technology, which makes obsolete the firm’s primary business. 

     Hubris is often the motivation for M&As even if the market correctly values a firm, since the acquiring firm’s management may believe that there is value in the target firm that investors do not see.  Firms may also be motivated to buy another firm if the firm’s market value is less than what it would cost to replace such assets.  Agency problems arise when there is a difference between the interest of incumbent managers and the firm’s shareholders.  By acquiring the firm, value is created when managers whose interests are more aligned with shareholders replace current management; and, as such, these new managers are more inclined to make value enhancing investments rather than those intended to entrench management or contribute to their overall compensation. Firms may acquire another firm to achieve greater market share in an effort to be able to gain more control over pricing.  Managerialism is a situation in which a firm’s managers acquire other firms simply to increase the acquiring firm’s size and their own compensation.  Finally, an acquirer with substantial taxable income may wish to acquire a target firm with significant loss carryforwards and investment tax credits in order to shelter more of their taxable income.

1.2 
What is the role of the investment banker in the M&A process?

Answer:  Investment bankers serve as advisors to firms developing business strategies. They also recommend M&As and other types of restructuring activities intended to build shareholder value, screen potential buyers and sellers, make initial contact with a seller or buyer, and provide negotiating support, valuation, and deal structuring.  Investment bankers may also assist in arranging M&A financing.

1.3 
In your opinion, what are the motivations for two mergers or acquisitions in the news?

Answer:  In 2002, Hewlett Packard announced its interest in acquiring Compaq Computer, a major competitor.  The justification was to achieve cost savings by eliminating duplicate overhead and by closing under-utilized manufacturing facilities and to move the two firms increasingly into selling such services as maintenance and consulting.  Northrop Grumman announced its desire to purchase TRW in 2003, primarily for its strong position in satellites and surveillance technologies.  The HP acquisition represents an effort to realize operating synergy by combining two highly related firms.  In contrast, the Northrop attempt to takeover TRW is driven more by a desire to diversify into a related market that is expected to exhibit high growth due to the “war of terrorism.”

1.4
What are the arguments for and against corporate diversification through acquisition? Which do you support and why?

Answer:  In discussing diversification, it is important to distinguish between unrelated and related diversification.  Firms often justify unrelated diversification if they believe their current core business is maturing or is too “cyclical.” By shifting their focus to higher growth areas, management argues they can improve shareholder value.  Moreover, by moving into an industry whose cash flows are uncorrelated with those in the core business, it is argued that the firm’s earnings growth will become more predictable and hence less risky, thereby boosting the share price. Related diversification reflects an effort to sell the firm’s current products into new markets or to sell new products into current markets.  Such efforts are often less risky, because the firm is either familiar with how to produce the current products being sold into the new markets or is familiar enough with the needs of the customers in its current markets to know which new products they are likely to want.  Empirical studies show that unrelated diversification tends to destroy shareholder value.  Moreover, an investor is always able to more cheaply diversify their own portfolio by buying a minimum of 12-15 stocks in distinctly different industries than by buying the stock of a highly diversified firm. In 2002, a number of highly diversified companies such as Tyco were severely punished by investors because of the complexity of their business portfolios and the inability of investors to see the value added by the holding company structure.

1.5 
What are the primary differences between operating and financial synergy? Give examples to illustrate your       
statements.

Answer:  Operating synergy includes economies of scale and scope.  Economies of scale may be realized when two firms with manufacturing facilities operating well below their capacity merge.  If such facilities are combined, the average operating rate is increased and fixed expense per unit of output is reduced.  Significant savings may be realized if two firms merge and combine their data centers such that all operations in the future are supported by one rather than two or more such centers.  Financial synergy may be realized in a holding company if the holding company can more cheaply raise capital for its subsidiaries than they could do on their own.
1.6        At a time when natural gas and oil prices were at record levels, oil and natural gas producer, Andarko 
Petroleum, announced on June 23, 2006 the acquisition of two competitors, Kerr-McGee Corp. and Western Gas Resources, for $16.4 billion and $4.7 billion in cash, respectively.  These purchase prices represent a substantial 40 percent premium for Kerr-McGee and a 49 percent premium for Western Gas. The acquired assets strongly complement Andarko’s existing operations, providing the scale and focus necessary to cut overlapping expenses and to concentrate resources in adjacent properties. What do you believe were the primary forces driving Andarko’s acquisition?  How will greater scale and focus help Andarko to reduce its costs? Be specific. What are the key assumptions implicit in your argument?
Answer: Given the escalation in oil prices and the increasing difficulty in finding new reserves, Andarko concluded that it would be cheaper to buy reserves rather than to explore and develop new reserves. Recovering the substantial premium it paid assumed that oil prices would remain high. Declining oil prices would make it difficult for the firm to recover the premium without very aggressive cost cutting.  The firm also expects to achieve significant cost savings from combining overhead functions such as human resources and finance. Increasing operational scale will enable the firm to obtain savings from bulk purchases of supplies and services. Moreover, the adjacency of the properties will enable better utilization of production equipment and distribution pipelines. Achieving these savings assumes that the simultaneous integration of two companies can be handled smoothly without disruption to the firm’s existing operations. Furthermore, the ability to recover the large premiums paid assumes that energy prices will continue to escalate into the foreseeable future.
1.7        On September 30, 2000, Mattel, a major toy manufacturer, virtually gave away The Learning Company, a
             maker of software for toys, to rid itself of a disastrous foray into software publishing that had cost the firm

             literally hundreds of millions of dollars. Mattel, which had paid $3.5 billion for the firm in 1999, sold the unit
             to an affiliate of Gores Technology Group for rights to a share of future profits. Was this related or unrelated 

             diversification for Mattel?  How might this have influenced the outcome?
Answer: The Learning Company represented the application of software to the toy industry; however, The Learning Company was still a software company.  Mattel was in a highly unrelated business.  Perhaps propelled by hubris, Mattel acquired a business that it did not really understand, casting doubt on its ability to make informed decisions  

1.8       In 2000, AOL acquired Time Warner in a deal valued at $160 billion, excluding assumed debt.  Time Warner is 
           the world’s largest media and entertainment company, whose major business segments include cable networks, 
           magazine publishing, book publishing and direct marketing, recorded music and music publishing, and film and 
           TV production and broadcasting.  AOL viewed itself as the world leader in providing interactive services, Web 
           brands, Internet technologies, and electronic commerce services. Would you classify this business combination 
           as a vertical, horizontal, or conglomerate transaction? Explain your answer.
           Answer: If one defines the industry broadly as media and entertainment, this transaction could be described as a 
           vertical transaction in which AOL is backward integrating along the value chain to gain access to Time Warner’s 
           proprietary content and broadband technology. However, a case could be made that it also has many of the 
           characteristics of a conglomerate.  If industries are defined more narrowly as magazine and book publishing, 
           cable TV, film production, and music recording, the new company could be viewed as a conglomerate.

1.9      Pfizer, a leading pharmaceutical company, acquired drug maker Pharmacia for $60 billion. The purchase price 
           represented a 34 percent premium to Pharmacia’s pre-announcement price. Pfizer is betting that size is what 
           matters in the new millennium. As the market leader, Pfizer was finding it increasingly difficult to sustain the 
           double-digit earnings growth demanded by investors. Such growth meant the firm needed to grow revenue by $3-
           $5 billion annually while maintaining or improving profit margins. This became more difficult due to the 
           skyrocketing costs of developing and commercializing new drugs.  Expiring patents on a number of so-called 
           blockbuster drugs intensified pressure to bring new drugs to market.  In your judgment, what were the primary 
           motivations for Pfizer wanting to acquire Pharmacia? Categorize these in terms of the primary motivations for 
           mergers and acquisitions discussed in this chapter.
           Answer: The deal was an attempt to generate cost savings from being able to operate manufacturing facilities at a 

           higher average rate (economies of scale), to share common resources such as R&D and staff/overhead activities 

           (economies of scope), gain access to new drugs in the Pharmacia pipeline (related diversification), gain pricing 

           power (market power), and a sense that Pfizer could operate the Pharmacia assets better (hubris).  Pfizer seems to 

           believe that “bigger is better” in this high fixed cost industry.  Also, with many patents on existing drugs 

           expiring, the firm is hopeful of gaining access to what could be future “blockbuster” drugs.

1.10    Dow Chemical, a leading chemical manufacturer, announced that it had reached an agreement to acquire in late 
           2008 Rohm and Haas Company for $15.3 billion. While Dow has competed profitably in the plastics business for 
           years, this business has proven to have thin margins and to be highly cyclical. By acquiring Rohm and Haas, 
           Dow will be able to offer less cyclical and higher margin products such as paints, coatings, and electronic 

           materials. Would you consider this related or unrelated diversification? Explain your answer.  Would you 
           consider this a cost effective way for the Dow shareholders to achieve better diversification of their investment 
           portfolios? 
           Answer: This acquisition should be viewed as related to Dow’s core competence in producing chemicals and 

           chemical-based products. It does not represent an efficient way for individual investors to achieve portfolio   

           diversification. Individuals could more cost effectively diversify among different firms in different industries 

           without having to shoulder a pro rata share of the Dow overhead that exists to manage the firm’s portfolio. 
Solutions to End of Chapter Case Study Questions
Charter Communications Acquires Time Warner Cable Amid Industry Turmoil

Discussion Questions:
1. Using the motives for mergers and acquisitions described in Chapter 1, which do you think apply to Charter’s acquisition of Time Warner Cable? Discuss the logic underlying each motive you identify. Be specific.

Answer: The motives for Charter’s takeover of Time Warner Cable included strategic realignment, cost savings synergies, market power, and possibly hubris. As a relatively small cable provider, Charter’s competitive position was weak relative to the industry leaders. External circumstances were forcing the firm to undergo a strategic realignment away from the traditional cable model to one focused more on broadband services to cope with the consumer’s shift to online video content. The combination of a maturing market for cable TV and a consumer switch to online video made it clear that if it were to survive the firm would have to increase significantly its geographic coverage, customer base, and broadband network. 

The two firms offered significant cost savings synergies in terms of the potential for eliminating overlapping overhead functions given the horizontal nature of the tie-up. In addition, their combination increased substantially their market power or bargaining leverage with content providers. The combined firms could pay content providers less for their premium programming and could also limit the number of niche programs that they might have otherwise had to take to get access to the premium programs they wanted. Finally, hubris could also have been a factor as Mr. Malone as a cable industry icon was no doubt a driving force in the takeover. His past success in restructuring the industry increased the confidence that a rejuvenated Charter in combination with Time Warner could also remake the industry. Only time will tell if history will repeat itself.

2. What are the key implicit assumptions underlying Charter’s bid t takeover Time Warner Cable? Do you believe these assumptions were realistic? Why/why not. 

Answer: Key assumptions include (implicit or otherwise) the following: that size matters, regulators will approve the merger, the trend toward online video will continue, and the businesses can be integrated with a minimum of disruption to all constituent groups, The notion that size matters in improving a firm’s competitive position focuses on cost savings, potential cross selling opportunities (i.e., selling to each firm’s customers, and the ability to finance major investment undertakings. What is forgotten is that with size comes increasing bureaucratic inertia resulting in slower reaction to changing external market conditions and glacial decision making as well as the potential for greater risk aversion. Nonetheless, in capital intensive industries such as cable TV it is generally true that firms must be big to finance the huge scale projects such as broadband network expansion required to be a national competitor. Regulatory approval was more likely in this instance because regulators recognize that size in capital intensive industries does matter. Also there was limited overlap between the two firms and a combined Charter and TWC would create a strong counterweight to industry leader Comcast. The trend toward online video is likely to continue as it empowers consumers by giving greater choice at a potentially lower cost than cable. The most problematic assumption is the extent to which the integration of a business the size of TWC would be disruptive. Only time will tell. But history does suggest that integrating large acquisitions often is characterized by a loss of customers, key employees and suppliers, often resulting in value destruction for acquiring firm shareholders.

3. Speculate as to why Charter offered Time Warner Cable a choice of various combinations of stock and cash? How might the combination of the offer price affect its attractiveness to TWC shareholders? Be specific.

Answer: By offering stock, Charter was able to satisfy the potential demands of some TWC shareholders who wanted stock in the new Charter in order to participate in any upside potential appreciation and to postpone the payment of taxes on any gains they may realize in selling their TWC stock. Also, the use of stock meant that Charter would be able to finance the deal by using less debt to raise the cash portion of the deal. Both Charter and TWC were laden with substantial debt prior to the takeover.

4. Would you view Charter’s takeover of Time Warner Cable as a horizontal or vertical merger? Explain your answer? 

Answer: Charter’s takeover of TWC was a horizontal merger reflecting the fact that they were direct competitors in some geographic areas and potential competitors in others. Neither firm had substantial downstream integration into content development. A vertical merger in this industry would have required that Charter acquire a major content supplier such as a TV network.

5. Charter’s share price rose by 2.5% while Time Warner’s share price jump by 7.3%, about one-half of the offer price premium. Speculate as to why the stock prices of the two firms acted as they did immediately following the announcement of an agreement between the two firms to merge.

Answer: The rise in Charter’s share price following the announcement indicated shareholder approval of the move. The failure of TWC’s share price to rise by the full 14% premium reflected investor concern that the deal would not receive regulatory approval. 

6. What factors contributed to cable industry consolidation? Be specific. Explain how each factor you identify impacted industry competitors.
Answer: Changing technology has enabled consumers to “cut the cord” with cable and move to the internet where they can select exactly the type of content they wish, and watch when they want to and from any location. At the time of this writing, online video offerings are generally cheaper than traditional cable TV subscriptions.

Examination Questions and Answers

True/False: Answer True or False to the following questions:

1. A divestiture is the sale of all or substantially all of a company or product line to another party for cash or securities.  True or False     
Answer: True

2. The target company is the firm being solicited by the acquiring company.  True or False      
Answer: True

3. A merger of equals is a merger framework usually applied whenever the merger participants are comparable in size, competitive position, profitability, and market capitalization.  True or False    
Answer: True

4. A vertical merger is one in which the merger participants are usually competitors.  True or False   
Answer: False

5. Joint ventures are cooperative business relationships formed by two or more separate parties to achieve common strategic objectives  True or False   
Answer: True

6. Operational restructuring refers to the outright or partial sale of companies or product lines or to downsizing by closing unprofitable or non-strategic facilities.   True or False

Answer: True

7. The primary advantage of a holding company structure is the potential leverage that can be achieved by gaining effective control of other companies’ assets at a lower overall cost than would be required if the firm were to acquire 100 percent of the target’s outstanding stock.  True or False

Answer: True

8. Holding companies and their shareholders may be subject to triple taxation.  True or False

Answer: True

9. Investment bankers offer strategic and tactical advice and acquisition opportunities, screen potential buyers and sellers, make initial contact with a seller or buyer, and provide negotiation support for their clients. 

True or False

Answer: True

10. Large investment banks invariably provide higher quality service and advice than smaller, so-called boutique investment banks.  True or False

Answer: False

11. Financial restructuring generally refers to actions taken by the firm to change total debt and equity structure.  True or False

Answer: True

12. An acquisition occurs when one firm takes a controlling interest in another firm, a legal subsidiary of another firm, or selected assets of another firm.  The acquired firm often remains a subsidiary of the acquiring company.  True or False

Answer: True

13. A leveraged buyout is the purchase of a company using as much equity as possible. True or False

Answer: False

14. In a statutory merger, both the acquiring and target firms survive. True or False 

Answer:  False

15. In a statutory merger, the acquiring company assumes the assets and liabilities of the target firm in accordance with the prevailing federal government statutes.  True or False

Answer: False

16. In a consolidation, two or more companies join together to form a new firm.  True or False

Answer: True

17. A horizontal merger occurs between two companies within the same industry.  True or False

Answer: True

18. A conglomerate merger is one in which a firm acquires other firms, which are highly related to its current core business.  True or False 

Answer: False

19. The acquisition of a coal mining business by a steel manufacturing company is an example of a vertical merger.  True or False 

Answer:  True

20. The merger of Exxon Oil Company and Mobil Oil Company was considered a horizontal merger.  True or False

Answer: True

21. Most M&A transactions in the United States are hostile or unfriendly takeover attempts.  True or False

Answer: False

22. Holding companies can gain effective control of other companies by owning significantly less than 100% of their outstanding voting stock.  True or False

Answer: True

23. Only interest payments on ESOP loans are tax deductible by the firm sponsoring the ESOP.  True or False

Answer: False

24. A joint venture rarely takes the legal form of a corporation. True or False

Answer: False

25. When investment bankers are paid by a firm’s board to evaluate a proposed takeover bid, their opinions are given in a so-called “fairness letter.”  True or False 

Answer: True

26. Synergy is the notion that the combination of two or more firms will create value exceeding what either firm could have achieved if they had remained independent.  True or False

Answer: True

27. Operating synergy consists of economies of scale and scope.  Economies of scale refer to the spreading of variable costs over increasing production levels, while economies of scope refer to the use of a specific asset to produce multiple related products or services.  True or False

Answer:  False

28. Most empirical studies support the conclusion that unrelated diversification benefits a firm’s shareholders.  True or False

Answer: False

29. Deregulated industries often experience an upsurge in M&A activity shortly after regulations are removed.  True or False

Answer: True

30. Because of hubris, managers of acquiring firms sometimes believe their valuation of a target firm is superior to the market’s valuation.  Under these circumstances, they often end up overpaying for the firm.  True and False

Answer: True

31. During periods of high inflation, the market value of assets is often less than their book value.   This often creates an attractive M&A opportunity. True or False

Answer: False

32. Tax benefits, such as tax credits and net operating loss carry-forwards of the target firm, are often considered the primary reason for the acquisition of that firm.  True or False

Answer: False

33. Market power is a theory that suggests that firms merge to improve their ability to set product and service selling prices.  True or False

Answer: True

34. Mergers and acquisitions rarely pay off for target firm shareholders, but they are usually beneficial to acquiring firm shareholders.  True or False

Answer:  False

35. Pre-merger returns to target firm shareholders can exceed 30% around the announcement date of the transaction.  True or False

Answer: True

36. Post-merger returns to shareholders often do not meet expectations.  However, this is also true of such alternatives to M&As as joint ventures, alliances, and new product introductions.  True or False

Answer: True

37. Overpayment is the leading factor contributing to the failure of M&As to meet expectations.  True or False

Answer: True

38. Takeover attempts are likely to increase when the market value of a firm’s assets is more than their replacement value.  True or False

Answer: False

39. Although there is substantial evidence that mergers pay off for target firm shareholders around the time the takeover is announced, shareholder wealth creation in the 3-5 years following a takeover is often limited.  

True or False

Answer: True

40. A statutory merger is a combination of two corporations in which only one corporation survives with the merged corporation goes out of existence. True or False  

Answer: True

41. A subsidiary merger is a merger of two companies where the target company becomes a subsidiary of the parent.  True or False  

Answer: True

42. Consolidation occurs when two or more companies join to form a new company.    True or False 

Answer: True

43. An acquisition is the purchase of an entire company or a controlling interest in a company.   True or False 

Answer:  True

44. A leveraged buyout is the purchase of a company financed primarily by debt.  This is a term commonly applied to a firm going private financed primarily by debt. True or False  

Answer: True

45. Growth is often cited as an important factor in acquisitions.  The underlying assumption is that that bigger is

better to achieve scale, critical mass, globalization, and integration.   True or False  

Answer: True

46. The empirical evidence supports the presumption that bigger is always better when it comes to acquisitions.  

True or False

Answer: False

47. The empirical evidence shows that unrelated diversification is an effective means of smoothing out the business cycle. True or False

Answer: False

48. Individual investors can generally diversify their own stock portfolios more efficiently than corporate managers who diversify the companies they manage.  True or False

Answer: True

49. Financial considerations, such as an acquirer believing the target is undervalued, a booming stock market or falling interest rates, frequently drive surges in the number of acquisitions.  True or False

Answer: True

50. Regulatory and political change seldom plays a role in increasing or decreasing the level of M&A activity.  

True or False

Answer:  False

Multiple Choice: Circle only one.

1. Which of the following are generally considered restructuring activities?  

a. A merger

b. An acquisition

c. A divestiture

d. A consolidation

e. All of the above

Answer: E

2. All of the following are considered business alliances except for 

a. Joint ventures

b. Mergers

c. Minority investments

d. Franchises

e. Licensing agreements

Answer: B

3. Which of the following is an example of economies of scope?

a. Declining average fixed costs due to increasing levels of capacity utilization

b. A single computer center supports multiple business units

c. Amortization of capitalized software

d. The divestiture of a product line

e. Shifting production from an underutilized facility to another to achieve a higher overall operating rate and shutting down the first facility

Answer: B

4. A firm may be motivated to purchase another firm whenever

a. The cost to replace the target firm’s assets is less than its market value

b. The replacement cost of the target firm’s assets exceeds its market value

c. When the inflation rate is accelerating

d. The ratio of the target firm’s market value is more than four times its book value

e. The market to book ratio is greater than one and increasing

Answer: B

5. Which of the following is true only of a consolidation?  

a. More than two firms are involved in the combination

b. One party to the combination disappears

c. All parties to the combination disappear

d. The entity resulting from the combination assumes ownership of the assets and liabilities of the acquiring firm only.

e. One company becomes a wholly owned subsidiary of the other.

Answer: C

6. Which one of the following is not an example of a horizontal merger?  

a. NationsBank and Bank of America combine

b. U.S. Steel and Marathon Oil combine

c. Exxon and Mobil Oil combine

d. SBC Communications and Ameritech Communications combine

e. Hewlett Packard and Compaq Computer combine

Answer: B

7. Buyers often prefer “friendly” takeovers to hostile ones because of all of the following except for: 

a. Can often be consummated at a lower price

b. Avoid an auction environment

c. Facilitate post-merger integration

d. A shareholder vote is seldom required

e. The target firm’s management recommends approval of the takeover to its shareholders

Answer: D

8. Which of the following represent disadvantages of a holding company structure?  

a. Potential for triple taxation

b. Significant number of minority shareholders may create contentious environment

c. Managers may have difficulty in making the best investment decisions

d. A, B, and C

e. A and C only

Answer: D

9. Which of the following are not true about ESOPs?  

a. An ESOP is a trust

b. Employer contributions to an ESOP are tax deductible

c. ESOPs can never borrow

d. Employees participating in ESOPs are immediately vested

e. C and D

Answer: E

10. ESOPs may be used for which of the following?  

a. As an alternative to divestiture

b. To consummate management buyouts

c. As an anti-takeover defense

d. A, B, and C

e. A and B only

Answer: D

11. Which of the following represent alternative ways for businesses to reap some or all of the advantages of M&As?  

a. Joint ventures and strategic alliances

b. Strategic alliances, minority investments, and licensing

c. Minority investments, alliances, and licensing

d. Franchises, alliances, joint ventures, and licensing

e. All of the above

Answer: E

12. Which of the following are often participants in the acquisition process? 

a. Investment bankers

b. Lawyers

c. Accountants

d. Proxy solicitors

e. All of the above

Answer: E

13.
The purpose of a “fairness” opinion from an investment bank is
a. To evaluate for the target’s board of directors the appropriateness of a takeover offer

b. To satisfy Securities and Exchange Commission filing requirements

c. To support the buyer’s negotiation effort

d. To assist acquiring management in the evaluation of takeover targets

e. A and B

Answer: A

14.
Arbitrageurs often adopt which of the following strategies in a share for share exchange just before or just after 
a merger announcement?  

a. Buy the target firm’s stock

b. Buy the target firm’s stock and sell the acquirer’s stock short

c. Buy the acquirer’s stock only

d. Sell the target’s stock short and buy the acquirer’s stock

e. Sell the target stock short

Answer: B

15.       Institutional investors in private companies often have considerable influence approving or disapproving  

      proposed mergers.  Which of the following are generally not considered institutional investors?  

a. Pension funds

b. Insurance companies

c. Bank trust departments

d. United States Treasury Department

e. Mutual funds

Answer: D

16.       Which of the following are generally not considered motives for mergers?  

a. Desire to achieve economies of scale

b. Desire to achieve economies of scope

c. Desire to achieve antitrust regulatory approval

d. Strategic realignment

e. Desire to purchase undervalued assets

Answer: C

17.        Which of the following are not true about economies of scale?  

a. Spreading fixed costs over increasing production levels

b. Improve the overall cost position of the firm

c. Most common in manufacturing businesses

d. Most common in businesses whose costs are primarily variable

e. Are common to such industries as utilities, steel making, pharmaceutical, chemical and aircraft manufacturing

Answer: D

18.
Which of the following is not true of financial synergy?   

a. Tends to reduce the firm’s cost of capital

b. Results from a better matching of investment opportunities available to the firm with internally generated funds

c. Enables larger firms to experience lower average security underwriting costs than smaller firms

d. Tends to spread the firm’s fixed expenses over increasing levels of production

e. A and B

Answer: D

19.        Which of the following is not true of unrelated diversification?  

a. Involves buying firms outside of the company’s primary lines of business

b. Involves shifting from a firm’s core  product lines into those which are perceived to have higher growth potential

c. Generally results in higher returns to shareholders

d. Generally requires that the cash flows of acquired businesses are uncorrelated with those of the firm’s existing businesses

e. A and D only

Answer: C

20. Which of the following is not true of strategic realignment?  

a. May be a result of industry deregulation

b. Is rarely a result of technological change

c. Is a common motive for M&As

d. A and C only

e. Is commonly a result of technological change

Answer: B

21.
The hubris motive for M&As refers to which of the following?   

a. Explains why mergers may happen even if the current market value of the target firm reflects its true economic value

b. The ratio of the market value of the acquiring firm’s stock exceeds the replacement cost of its assets

c. Agency problems

d. Market power

e. The Q ratio

Answer: A

22.        Around the announcement date of a merger or acquisition, abnormal returns to target firm shareholders   
               during the last several decades have been   

a. Trending down 
b. Trending up
c. Unchanged
d. Doubling each decade
e. None of the above
Answer: A
23.
Around the announcement date of a merger, acquiring firm shareholders of large publicly traded firms normally earn    

a. 30% positive abnormal returns

b. –20% abnormal returns

c. Zero to slightly negative returns

d. 100% positive abnormal returns

e. 10% positive abnormal returns

Answer: C

24.        Which of the following is the most common reason that M&As often fail to meet expectations?     

a. Overpayment

b. Form of payment

c. Large size of target firm

d. Inadequate post-merger due diligence

e. Poor post-merger communication

Answer: A

25.        Post-merger financial performance of the new firm is often about the same as which of the following?

a. Joint ventures

b. Strategic alliances

c. Licenses

d. Minority investments

e. All of the above

Answer: E.

26.        Restaurant chain, Camin Holdings, acquired all of the assets and liabilities of Cheesecakes R Us.  The  

combined firm is known as Camin Holdings and Cheesecakes R Us no longer exists as a separate entity. The 

acquisition is best described as a:

a. Merger

b. Consolidation

c. Tender offer

d. Spinoff

e. Divestiture

Answer: A

27.         Pacific Surfware acquired Surferdude and as part of the transaction both of the firms ceased to exist in their  

form prior to the transaction and combined to create an entirely new entity, Wildly Exotic Surfware. Which one of the following terms best describes this transaction?

a. Divestiture

b. Tender offer

c. Joint venture

d. Spinoff

e. Consolidation

Answer: E

28.        News Corporation of America announced its intention to purchase shares in another national newspaper chain. 

Which one of the following terms best describes this announcement?

a. Divestiture

b. Spinoff

c. Consolidation

d. Tender offer

e. Merger proposal


Answer: D

29.        Which one of the following statements accurately describes a merger?

a. A merger transforms the target firm into a new entity which necessarily becomes a subsidiary of the acquiring firm

b. A new firm is created from the assets and liabilities of the acquirer and target firms

c. The acquiring firm absorbs only the assets of the target firm

d. The target firm is absorbed entirely into the acquiring firm and ceases to exist as a separate legal entity.

e. A new firm is created holding the assets and liabilities of the target firm and its former assets only.

Answer: D

30.        An investor group borrowed the money necessary to buy all of the stock of a company. Which of the following   

terms best describes this transaction?

a. Merger

b. Consolidation

c. Leveraged buyout

d. Tender offer

e. Joint venture

Answer:
C
31. A steel maker acquired a coal mining company. Which of the following terms best describes this deal?
a. Vertical

b. Conglomerate

c. Horizontal

d. Obtuse

e. Tender offer

Answer: A

32. Joe’s barber shop buys Jose’s Hair Salon. Which of the following terms best describes this deal?

a. Joint venture

b. Strategic alliance

c. Horizontal

d. Vertical 

e. Conglomerate

Answer: C

Case Study Short Essay Examination Questions:
PC Maker Lenovo Moves to Diversify Its Core Business

Key Points

· Firms unable to anticipate change often are forced to react to it and to make choices under great duress.

· A common reaction when a firm’s current product focus is in jeopardy is to diversify either into products or services related to or entirely unrelated to their core skills.

· Either choice can be highly risky if the firm’s core skills are becoming obsolete or if the firm is unable to adapt fast enough to the skills required in the new competitive environment.

With the global personal computer market in steady decline, the board and senior management of Lenovo Corporation, the Chinese-based global leader in PC manufacturing, expressed increasing concern about the firm’s future viability. External trends were increasingly shaping the firm’s future. It was clear something had to be done. But what was the appropriate strategy to deal with an accelerating rate of change? In response to this question, Lenovo’s chief executive, Yang Yuanqing, laid out plans to diversify further into the smartphone and tablets’ markets in a strategy he referred to as “PC-plus.”
     The decline in PC demand was worsening with the global PC market falling by 10% in 2013 to 314.5 million units sold according to technology consulting firm IDC. Lenovo was under pressure to implement the new strategy quickly. In rapid fire succession, Lenovo announced on January 14, 2014, that it had reached a deal with IBM to buy its low-end server business and 7 days later that it announced the acquisition of Motorola Mobility’s smartphone business from Google Inc. The $2.3 billion cash deal with IBM gave Lenovo 7.5% of the world market for low-margin servers based on off-the-shelf semiconductors. As a result, Lenovo had positioned itself to compete directly with Dell and HP. While customers are shifting away from the low-end, less powerful servers, demand for these machines is expected to remain in high for years to come ensuring steady cash inflow for the firm.
      In contrast, the $2.91 billion Motorola Mobility deal represented a potentially highly significant growth opportunity. The purchase price consisted of $660 million in cash, $750 million in Lenovo shares, and a 3-year promissory note valued at $1.5 billion. Motorola Mobility includes handset technology that Google had acquired for $12.5 billion in 2011. Selling the unit reflected Google’s submission to mounting shareholder pressure to rid itself of the cash hemorrhaging business that many believed provided an unnecessary management distraction from the firm’s core search business.
 Lenovo is picking up more than 2000 patents, including those necessary to produce smartphones, in addition to the phone handset manufacturing operation.
      Lenovo is the third largest smartphone maker in the world behind Samsung and Apple. However, its sales are geographically concentrated, with 90% of its smartphones sold in China. The acquisition of Motorola gives the firm a global brand name and access to the US market where Motorola already has relationships with such major telecommunications carriers as Verizon and AT&T. In total, Motorola has distribution agreements with more than 50 mobile carriers, retail outlets, and resellers. The firm intends to sell both Motorola and Lenovo phones in the United States.
      While the US market is large, it is also maturing. With 60% of American cellphone owners having smartphones, future growth is likely to slow from its rapid pace of the past decade. Moreover, the US handset market is highly concentrated with Samsung and Apple having a combined market share of 68% according to NPD Group, a market research firm. The remainder of the handset market is divided among HTC, Motorola Mobility, and Blackberry.

Lenovo had expressed interest in acquiring Motorola in 2012 but was rebuffed by Google management. In November 2013, Google’s executive chairman, Eric Schmidt called Lenovo’s chief executive and asked if he was still interested in a deal. Google was unwilling to sell Motorola to competitors like Microsoft or Samsung. Lenovo was viewed as the ideal buyer for its smartphone business, since the world’s largest PC maker could become a big booster of Android, Google’s mobile operating system. Lenovo began exclusively making Android phones in 2013. For Lenovo, the deal made it a preferred hardware producer for Google putting it in a position to co-market its products with Google and to sell its hardware directly to Google.
      The purchase of Motorola Mobility will give the firm a strong brand in the mobile market outside of China and relationships with AT&T and Verizon. Along with Apple, Lenovo will be the only major technology firm with global product lines in PCs, smartphones, and tablets giving Lenovo the opportunity to become a one-stop shop for firms to buy all their devices from the same vendor. Eventually, the firm hopes to become a major player in the global smartphone market.
       While mobile phones use different kinds of chips than PCs and servers, many parts and much of the handset assembly is done by the same companies. By increasing their volume of parts purchases, Lenovo may be able to negotiate lower prices from suppliers. With its increased position in the global server market, Lenovo also may hope to experience savings in purchasing microchips for both PCs and servers in greater number.

Lenovo’s highly aggressive acquisition strategy raises questions of whether the firm is moving too fast. Integrating the money-losing Motorola along with the former IBM server business will be a challenge. But the firm believes that speed is critical in implementing successfully its new strategy. In a nod toward déjà vu, Lenovo is hoping that the Motorola deal can propel its smartphone business onto the global stage just as its purchase of IBM’s ThinkPad business in 2005 had catapulted the firm into the thick of the PC industry.

Microsoft Acquires Nokia in the Ongoing Smartphone Wars

Case Study Objectives: To Illustrate

· Common motives for corporate restructuring

· Alternative forms of corporate restructuring strategies.
Once the global leader in mobile phone handsets, Finnish based Nokia Inc. saw its fortunes dissipate as it failed to adapt to a worldwide shift to smartphones. In the wake of intensified competition from its Asian rivals for lower end phones, the firm’s market share fell to 14% at the end of 2013, from a peak of 40% in 2007. To conserve cash, the firm was forced to suspend its dividend in 2013 for the first time in its 148-year history.
     In Finland, where Nokia is viewed as a technology icon, this news was greeted with shock. At one time, the firm’s market value was almost 5% of the country’s gross domestic product. The firm represented a major source of national pride. But its inability or unwillingness to adapt to a sea change in mobile technology proved to be its undoing.

In an effort to jumpstart its move into smartphones, Nokia acquired Symbian, its supplier of smartphone operating system software, in 2008. At the time, Symbian has 60% share of the smartphone operating system market, but it was losing share rapidly to Apple. Nokia also announced its intention to give away Symbian’s software for free in response to Google’s decision in 2008 to offer its Android operating system at no cost to handset makers.
     As was Google with its Android smartphone operating system, Nokia was seeking to establish an industry standard based on its Symbian software, using it as a platform for providing online services to smartphone users, such as music and photo sharing. Nokia was attempting to position itself as the premier supplier of online services to the smartphone market by dominating the market with handsets reliant on the Symbian operating system.
     Nokia also hoped to spread any fixed cost associated with online services over an expanding customer base. Such fixed expenses could include a requirement by content service providers that Nokia pay a minimum level of royalties in addition to royalties that vary with usage. Similarly, the development cost incurred by service providers can be defrayed by selling into a growing customer base.
     In many ways this strategy was doomed from the start. Nokia was pursuing essentially a “me-too” strategy by simply mirroring Google’s strategy in offering the software free to app developers and other handset manufacturers. However, the Symbian operating system was inferior to both the Apple IOS and Google Android operating systems, putting Nokia at a serious competitive disadvantage. Finally, the success of their strategy was heavily dependent on Nokia’s ability to convince other handset makers (Nokia competitors) to adopt their software.
     Increasingly viewed as pocket computers, smartphones outsold personal computers for the first time in the fourth quarter of 2010. The Apple iPhone and devices powered by Google’s Android operating system had won consumers with their sleek touchscreen software and with an army of developers creating applications for their devices. In just 3 years, Apple had captured the largest share of the smartphone market. These developments put Microsoft’s core business, selling software for PCs, in jeopardy and eroded Nokia’s market share in the smartphone market.

On February 11, 2011, Nokia’s CEO Stephen Elop announced an alliance with Microsoft to establish a third major player in the intensely competitive smartphone market. Under the deal, Nokia adopted Windows Phone 7 (WP7) as its principal smartphone operating system, replacing its own Symbian software. Nokia and Microsoft were betting that wireless carriers such as Verizon, AT&T, and Vodafone would want an alternative system to iPhone and Android.

The partnership seemed to hold considerable promise. Nokia remained a powerhouse in feature phones and, if it could successfully transition these devices to the WP7 operating system, it may be able to increase market penetration sharply. Android appeared vulnerable at the time due to a number of problems: platform fragmentation, inconsistent updates and versions across devices, and the operating system becoming slower as it is called upon to support more applications. WP7, at this time, has none of these problems. If customers become frustrated with Android, then WP7 could gain significant share.
     Nokia could have partnered with Google, as have many handset manufacturers. However, such a partnership made little sense. It would have required the firm to compete with the likes of Samsung, HTC and Motorola—all makers of Android-powered smartphones—by trying to differentiate themselves by cutting deals to offer certain content exclusively on their phones and enhancing the phone’s user interface.
     Under the terms of the partnership agreement, WP7 would become Nokia’s primary smartphone platform; Nokia also agreed to help to introduce WP7 powered smartphones in new consumer and business markets throughout the globe. The two firms also would jointly market their products and integrate their mobile application online stores such that Microsoft’s Marketplace (applications and media store) would absorb Nokia’s current online applications and content store (Ovi). Nokia phones would use Microsoft’s Bing search engine, Zune music store, Xbox live, gaming center, and would work with Microsoft on future services to expand the capabilities of mobile devices. Since the deal was not exclusive, Microsoft would continue to have other hardware partners, and Nokia would continue to make some Symbian powered devices, at least until a WP7-based smartphone had proven to be a commercial success. Microsoft also agreed to invest about 1 billion dollars in Nokia over a period of years to defray development and marketing costs.

The alliance enabled Nokia to adopt new software (WP7) with an established community of developers but that has sold relatively poorly since its introduction in late 2010. With the phase out of its Symbian operating system over a period of years, Nokia was able to substantially reduce its own research and development and marketing budgets.
     For Microsoft, the alliance gave it access to Nokia’s extensive intellectual property portfolio in the mobile market to strengthen the WP7 system. For Microsoft, the deal also represented a major opportunity to boost lagging sales in the mobile phone market. The alliance also gave Microsoft access the world’s largest phone maker and its huge brand recognition. While Microsoft gained backing for its Windows phone operating system with the deal, this would not guarantee success in the mobile phone market.
     Despite having been an early entrant into the smartphone business, Microsoft had been unable to gain significant market share. Over the years, Microsoft has struck deals with many of the world’s best known cellphone manufacturers, including Motorola and HTC Corp. But these alliances were hampered by either execution problems or by an inability of Microsoft to prevent handset makers from shifting to other technologies such as Google’s Android operating system. For example, after failing to deliver mobile phone technology that would compete with Apple and Google’s innovative systems, Taiwanese handset manufacturer, HTC, lost interest in manufacturing smartphones based on what was then known as Windows Mobile operating system and now makes many different Android phone models in addition to devices powered by WP7. Even though Microsoft’s Mobility software was substantially revamped and dubbed Windows Phone 7, it was only able to capture 2% market share in the fourth quarter of 2010 following its introduction early in the fall of that year.

     To better implement the partnership, Nokia reorganized into two business units: Smart Devices and Mobile Phones. The Smart Devices unit would focus on manufacturing the new Windows Phone 7 devices. The Smart Devices business must compete in the smartphone market against the likes of those producing handsets powered by the Google operating system, Blackberry, and Apple with only the Windows Phone 7 powered phone. The Mobile Phones operation would continue to develop phones for Nokia’s mass market. The mass market feature phone business represented Nokia’s core business in which the firm would produce large volumes of phones for the mass market differentiated largely by their features. While this market had proven lucrative for years, it is now under increasing pressure from mass produced Chinese phones.
     Despite all the fanfare surrounding the formation of the partnership, investors expressed their disapproval of the deal with Nokia’s stock falling 11% on the announcement. Similarly, Microsoft’s shares fell by 1% as investors feared that the firm had teamed with a weak player in the smartphone market and that the 2-year transition period before WP7-based smartphones would be sold in volume would only allow Android-based smartphones and iPhones to get further ahead.
     Its potential notwithstanding, the partnership faced many challenges. Despite setting the industry standard for handsets, Nokia did not have a smartphone product comparable to Apple’s iPhone (introduced in 2007) and Google’s Android system (first shipped in 2009). With Samsung, HTC, and LG having invested heavily in Android-powered devices, they had little incentive to commit to WP7-based devices. Instead, these firms seemed to be inclined to use the WP7 system as an alternative to Android in its negotiations with Google threatening to shift resources to WP7.

Furthermore, Nokia is a European company and Europe is where it has greatest market share. However, Microsoft has had a checkered past with EU antitrust authorities which sued the firm for alleged monopolies in its Windows and Office products. European companies have been much faster to adopt open-source solutions, often in an effort to replace Microsoft software. With the announcement of the alliance, there was the danger that Nokia would see a portion of its customers move into Android-based devices and into iPhones.
     The partnership’s performance since its inception has been problematic. Its success was based on the premise it could rapidly develop a compelling smartphone and tablet combination powered by first Windows Phone 7 and later the Windows Phone 8 operating system that would be widely accepted in the marketplace and enable the sale of lucrative Microsoft content.
     Since 2011, Nokia has developed several Windows based phones which showed only tepid sales growth, despite good reviews from industry pundits. Eventually, friction developed after Microsoft introduced its Surface tablets in late 2012 undercutting Nokia plans to develop and market own tablet devices. Moreover, sharing of intellectual property held by the two companies was not nearly as seamless as had been hoped at the inception of the partnership. Development activities at the two firms overlapped as both Microsoft and Nokia were spending money on app developers, music stores, and other content required for the ecosystem (i.e., products and content using a common operating system). It soon became apparent that both partners would be better off operating as a single entity owned by one party.
     The partnership with Microsoft failed to be the panacea the two firms expected. Symbian sales collapsed and Nokia faced increased competition from Asian rivals at the lower end of the handset market. The firm was rapidly running out of options.
     At the same time, Microsoft was getting frustrated in its ability to transform the firm into a formidable mobile technology competitor. Most of Microsoft revenues and profits come from its Windows operating system, Office suite of software, and the X-Box game console. It has so far failed to establish a profitable mobile device business. Its own tablet, the Surface, has thus far had limited success since its launch in 2012. With the limited likelihood other vendors would support its Windows 8 phone system, Microsoft believed it had little choice but to move beyond its software roots increasingly into hardware.
     In an audacious move, Microsoft announced that it had reached an agreement to acquire Nokia in September 2013. Nokia shareholders approved the $7.4 billion sale of the firm’s mobile handset business to Microsoft before the end of the year, eventually closing the deal following receipt of regulatory approval in early 2014. Under the terms of the transaction, Microsoft paid $5.2 billion to buy Nokia’s devices and services business plus an additional $2.2 billion to license Nokia’s patents and the Nokia name for 10 years. Because Nokia is based in Finland, Microsoft can use a portion of its foreign held cash to pay for the acquisition, enabling it to avoid a hefty tax burden if such funds were repatriated to the United States. Microsoft undertook a similar strategy when it acquired Skype for $8.2 billion, the largest acquisition in its history.
     The acquisition firmly committed Microsoft to a vertical business strategy in which it would own both the hardware and software products. The “Microsoft strategy” is patterned after the Apple model built around iPads, iPhones and the firm’s App Store and Google’s model built on the Android operating system, Google Plus market place, and Nexus line of tablets. The acquisition also had the added benefit of preventing a Microsoft competitor from acquiring Nokia.

After selling its phone business, Nokia is a shadow of its former self. Its remaining businesses include network infrastructure and services; mapping and location services, and a technology development and licensing unit. Microsoft faces an uphill struggle in its effort to transform the firm into a major global mobile technology player. Windows phones accounted for only 3.7% of smartphone shipments in 2013. The Surface tablet, while showing some improvement in sales in early 2014, still lagged far behind industry leader Apple. Nokia has fallen to second place in terms of shipments of mobile phones behind Samsung and is not even in the top five makers of smartphones. Furthermore, integrating with minimal disruption the two disparate Microsoft and Nokia corporate cultures is a daunting task. The takeover of Nokia may prove to be just another battle in the ongoing global smartphone wars.
Discussion Questions
1.
Using the motives for mergers and acquisitions described in Chapter 1, which do you think apply to Microsoft’s acquisition of Nokia? Discuss the logic underlying each motive you identify. Be specific.


Answer: Microsoft has been struggling to strategically realign itself into a leading global mobile technology competitor due to the market shift to smartphones and tablet computers to offset the substitution of these new technologies for its PC products. The failure to do so threatened the entire Microsoft franchise. Initially, the firm tried to introduce its own smartphone operating system and to license it to wireless carriers with little success. This was followed with an unsuccessful partnership with Nokia. Frustrated in these efforts, the firm achieved complete control by acquiring Nokia. This move represented related diversification in that Microsoft was vertically integrating into the handset business in an effort to integrate its Windows Phone 8 operating system with hardware (handsets). It should be considered related diversification in that it represented the sale of existing products (i.e., a Microsoft operating system powered handset) that it had been selling under the prior partnership with Nokia to its current customers. 

     
     Microsoft also was motivated to buy Nokia’s undervalued assets in that such a move represented a less expensive alternative to building a handset manufacturing capability within Microsoft. Potential operating synergies could be realized by merging global marketing and distribution activities and administrative overhead. Also, certain purchase price discounts could be realized by buying chips commonly used in both smartphones and tablets in larger volumes. Tax considerations also may have played a role in that Microsoft was able to avoid paying a high tax rate on profits repatriated to the U.S. by using such profits to pay for the takeover of Nokia. 

2.
Speculate as to why Microsoft and Nokia initially decided to form a partnership rather than have Microsoft simply acquire Nokia? Why was the partnership unsuccessful?

Answer: A partnership may have been preferred for several reasons: it was less costly for Microsoft to finance R&D at Nokia than to buy the entire firm, the challenges on integrating an operation the size of Nokia’s handset business are daunting, and Nokia may not have wanted to sell its handset operations at that time. 


     Because the partnership was non-exclusive, it may have been that the two partners were not as committed to achieving a common goal as they should have been. Consequently, available resources may have been less concentrated on the joint effort than was necessary for a successful outcome. The two firms also faced substantial cultural differences. For a partnership to be successful, it is necessary to have highly motivated partners sharing common objectives and willing to cooperate completely. Both firms have corporate cultures that reflected their historical success in developing and marketing new innovative technologies. Sharing ideas and adopting others solutions may have been difficult. The substantial geographic and cultural differences made developing trust and communicating effectively difficult.

3.
Speculate as to why Microsoft used cash rather than some other form of payment to acquire Nokia?

Answer: Cash was the preferred form of payment due to Microsoft’s desire to avoid paying the higher tax rate required if its cash held in Europe were repatriated to the U.S. Furthermore, Nokia has suspended its dividend in 2013 for the first time in its 148 year history to conserve cash. The sale of the handset unit for cash provided a means of restoring shareholder dividends while rebuilding Nokia’s depleted cash reserves.

4.
The Nokia takeover is an example of vertical integration. How does vertical integration differ from horizontal integration? How are the two businesses (software and hardware) the same and how are they different? What are the potential advantages and disadvantages of this vertical integration for Microsoft? Be specific. 

Answer: The takeover is an example of vertical or backward integration in which Microsoft’s Phone 8 operating system software would be used to power Nokia’s handsets. Vertical integration refers to a firm either taking control of its distribution operations (forward integration) or taking control of a former supplier (backward integration). Horizontal takeovers occur between competitors and offer more opportunity for cost savings due to overlapping functions than vertical integration. 



While Microsoft had some experience with hardware manufacturing with its Surface tablet computer, this acquisition represented a substantially larger foray into hardware than Microsoft had ever before undertaken. Hardware and software businesses are very different. Hardware is more a commodity-like offering fewer opportunities for differentiation and pricing power. Moreover, hardware in usually sold one unit at a time with little chance for upgrades. Once the hardware wears out, the customer often has to be convinced that it is worth buying a second time assuming that substitutes exist. In contrast, software is sold under a licensing agreement, offers upgrade opportunities, is more easily differentiated, and often has fewer substitutes. These attributes mean that it is less likely to become a commodity and likely to give the vendor more pricing power than hardware. 



The benefits of vertical integration include greater cooperation between the software and hardware operations than they had when they were partners, as well as greater idea sharing and access to each firm’s intellectual property. Moreover, Microsoft would be able to capture the profit margin earned on the sale of handsets that prior to the acquisition was lost to Nokia as an outside vendor. Vertically integrating also increases supply chain coordination, enables both firms to gain access to new distribution channels, and provides an opportunity to differentiate by controlling the addition of features and functions and how they integrate with the software. The latter factor provides increased ability to provide consistently higher product quality.  Disadvantages of vertical integration include potentially higher costs due to the loss of competition among alternative handset suppliers and potential loss of Nokia sales volume to Microsoft competitors.

5.
What are the critical assumptions that Microsoft is making in buying Nokia? Do you believe these assumptions are realistic? Explain your answer.


The key assumption Microsoft is making is that the marketplace wants an alternative to Google’s Android and Apple’s IOS operating systems. The marketplace consists of distributors, handset manufacturers, app developers, and end users. Distributors such as Verizon, AT&T, and Vodafone can use the option of another operating system to gain leverage in their negotiations with vendors. The same thing is true with handset manufacturers such as Samsung and HTC. However, app developers may be less enthusiastic about Windows Phone 8 powered Nokia handsets, because they represent such a small installed base of users. From the viewpoint of end users (those actually using the smartphone), the existing operating systems (Android and IOS) and hardware manufacturers such as Apple and Samsung have created huge entry barriers for Microsoft such as their wide appeal and huge user bases. It is unclear if Microsoft teaming with Nokia can come up with a demonstrably superior product to drive customers away from existing operating systems and handset vendors. 

Google Acquires Motorola Mobility in a Growth-Oriented as well as Defensive Move

Key Points

The acquisition of Motorola Mobility positions Google as a vertically integrated competitor in the fast-growing wireless devices market.

The acquisition also reduces their exposure to intellectual property litigation.

______________________________________________________________________________

By most measures, Google’s financial performance has been breathtaking. The Silicon Valley–based firm’s revenue in 2011 totaled $37.9 billion, up 29% from the prior year, reflecting the ongoing shift from offline to online advertising. While the firm’s profit growth has slowed in recent years, the firm’s 26% net margin remains impressive. About 95% of the firm’s 2011 revenue came from advertising sold through its websites and those of its members and partners.
 Google is channeling more resources into “feeder technologies” to penetrate newer and faster-growing digital markets and to increase the use of Google’s own and its members’ websites. These technologies include the Android operating system, designed to power wireless devices, and the Chrome operating system, intended to attract Windows- and Mac-based computer users.
Faced with a need to fuel growth to sustain its market value, Google’s announcement on August 15, 2011, that it would acquire Motorola Mobility Holdings Inc. (Motorola) underscores the importance it places on the explosive growth in wireless devices. The all-cash $12.5 billion purchase price represented a 63% premium to Motorola’s closing price on the previous trading day. Chicago-based, Motorola makes cellphones, smartphones, tablets, and set-top boxes; its status as one of the earliest firms to develop cellphones and one of the leading mobile firms for the past few decades meant that it had accumulated approximately 17,000 patents, with another 7,500 pending. With less than 3% market share, the firm had been struggling to increase handset shipments and was embroiled in multiple patent-related lawsuits with Microsoft.
As Google’s largest-ever deal, the acquisition may be intended to transform Google into a fully integrated mobile phone company, to insulate itself and its handset-manufacturing partners from patent infringement lawsuits, and to gain clout with wireless carriers, which control cellphone pricing and distribution. Revenue growth could come from license fees paid on the Motorola patent portfolio and sales of its handsets and by increasing the use of its own websites and those of its members to generate additional advertising revenue.
Google was under pressure from its handset partners, including HTC and Samsung, to protect them from patent infringement suits based on their use of Google’s Android software.
 Microsoft has already persuaded HTC to pay a fee for every Android phone manufactured, and it is seeking to extract similar royalties from Samsung. If this continues, such payments could make creating new devices for Android prohibitively expensive for manufacturers, forcing them to turn to alternative platforms like Windows Phone 7. With a limited patent portfolio, Google also was vulnerable to lawsuits against its Android licenses.
 Innovation in information technology usually relies on small, incremental improvements in software and hardware, which makes it difficult to determine those changes covered by patents. Firms have an incentive to build up their patent portfolios, which strengthens their negotiating positions with firms threatening to file lawsuits or demanding royalty payments. Historically, firms have simply cross-licensed each other’s technologies; today, however, patent infringement lawsuits create entry barriers to potential competitors, as the threat of lawsuits may discourage new entrants. It now pays competitors to sue routinely over alleged patent infringements.
Risks associated with the deal include the potential to drive Android partners such as Samsung and HTC to consider using Microsoft’s smartphone operating system, with Google losing license fees currently paid to use the Android operating system. The deal offers few cost savings opportunities due the lack of overlap between Google, an Internet search engine that also produces Android phone software, and handset manufacturer Motorola. Google is essentially becoming a vertically integrated cellphone maker. Furthermore, when the deal was announced, some regulators expressed concern about Google’s growing influence in its served markets. Finally, Google’s and Motorola’s growth and profitability differ significantly, with Motorola’s revenue growth rate less than one-third of Google’s and its operating profit margin near zero.
Samsung, HTC, Sony Ericsson, and LG are now both partners and competitors of Google. It is difficult for a firm such as Google to both license its products (Android operating system software) and compete with those licensees by selling Motorola handsets at the same time. Nokia has already aligned with Microsoft and abandoned its own mobile operating system. Others may try to create their own operating systems rather than become dependent on Google. Samsung released phones in 2011 that run on a system called Bada; HTC has a team of engineers dedicated to customizing the version of Android that it uses on its phones, called HTC Sense.
Motorola Mobility’s shares soared by almost 57% on the day of the announcement. Led by Nokia, shares of other phone makers also surged. In contrast, Google’s share price fell by 1.2%, despite an almost 2% rise in the S&P 500 stock index that same day.
Discussion Questions:

1. Many acquisitions are intended to create measureable synergy between the acquirer and target firms. In what sense is Motorola Mobility’s role in this transaction unclear? Identify sources of synergy between Google and Motorola Mobility.  What factors are likely to make the realization of this synergy difficult? Be specific.

Answer: It is unclear at the outset if the primary motivation to acquire Motorola Mobility is its extensive patent portfolio or to position Google as a phone maker and distributor of customized Android powered phones. Sources of synergy include the potential for creating a vertically integrated mobile phone company, the potential for creating a proprietary Android system, and access to the treasure trove of Motorola Mobility patents. Google may also provide needed financing to Motorola. Owning a phone maker may give Google more clout with the telecommunications carriers such as AT&T and Verizon which currently control how handsets are priced and distributed.

Factors that are likely to make it difficult to realize this synergy are that the two firms possess disparate corporate cultures and are located in substantially different geographic locations. Motorola Mobility is headquartered in Chicago and Google in the Silicon Valley. The two companies are very different in terms of what and how they serve their customers. Google makes internet services and software, thrives on high profit margins and distributes it product using giant data centers. In contrast, Motorola makes hardware, has modest margins and moves it products through warehouses and through brick and mortar stores. If Google moves too quickly to become a mobile phone company and makes Android a proprietary operating system, it risks losing its handset partners such as HTC and Samsung. 

The agreement to acquire Motorola Mobility was reached quickly, probably in less than two months.  Google had little time to perform adequate due diligence on the target’s manufacturing operations. Google probably has little experience with manufacturing physical products and the distribution and customer service associated with these products.  Even further afield from Google is Motorola’s involvement in making television set-top boxes. Google may be inclined to eventually sell off these noncore operations.

2. Using the motives for mergers and acquisitions described in Chapter 1, which do you thing apply to Google’s acquisition of Motorola Mobility? Be specific. 
Answer: A number of motives may be applicable. Google’s assumption that they could operate a manufacturing operation and that they could determine the value of the Motorola Mobility patent portfolio in a few weeks of due diligence may have in part reflected hubris. The acquisition also reflected related diversification in that Google acquired a supplier to become a fully vertically integrated business. The acquisition could also have been undertaken for defensive reasons in that the acquisition of the Motorola Mobility patent portfolio should help Google to ward off potentially ruinous patent infringement lawsuits against itself and its partners. Another motive could have included the expected financial synergy between the two businesses in that cash rich Google could help finance capital intensive Motorola Mobility. Google also thought it was buying intellectual property at a price much lower than it would cost the firm to develop and patent similar technologies. 
3. Speculate as to why the share price of Motorola Mobility did not increase by the full extent of the premium and why Google’s share price fell on the day of the announcement. Be specific.
Answer: Motorola Mobility’s share price did not rise by the full amount of the premium due to the possibility that the transaction would not be completed. Google’s share price fell reflecting investor confusion about an internet search company buying a handset manufacturer.
4. Speculate as to why the shares of other handset manufacturers jumped on the announcement that Google was buying Motorola Mobility. Be specific.
Answer: Shares of other handset makers rose amid speculation that they could be takeover targets. The rise in Nokia’s share price was the largest among handset makers since it had already entered into a partnership with Microsoft in which it would use Microsoft’s Phone 7 as the primary wireless operating system powering its handsets. Partnerships of this type often lead to eventual acquisitions of one partner by the other.
5. How might the growing tendency for technology companies to buy other firms’ patents affect innovation? Be specific.
Answer: Money that is being spent to buy patents for technologies developed by other firms’ results in less money being spent on research and development. In theory, this could reduce the rate of innovation due to the correlation between R&D spending and new patents. However, this conclusion may be problematic since it ignores the innovation that might ensue when one firm gains access to patented technologies and the amount of money that is currently spent in settling patent infringement lawsuits that also reduces monies available for R&D spending.

Lam Research Buys Novellus Systems to Consolidate Industry

______________________________________________________________________________________________

Key Points

Industry consolidation is a common response to sharply escalating costs, waning demand, and increasing demands of new technologies.

Customer consolidation often drives consolidation among suppliers.

______________________________________________________________________________________________
Highly complex electronic devices such as smartphones and digital cameras have become ubiquitous in our everyday lives. These devices are powered by sets of instructions encoded on wafers of silicon called semiconductor chips (semiconductors). Consumer and business demands for increasingly sophisticated functionality for smartphones and cloud computing technologies require the ongoing improvement of both the speed and the capability of semiconductors. This in turn places huge demands on the makers of equipment used in the chip-manufacturing process.
To stay competitive, makers of equipment used to manufacture semiconductor chips were compelled to increase R&D spending sharply. Chip manufacturers resisted paying higher prices for equipment because their customers, such as PC and cellphone handset makers, were facing declining selling prices for their products. Chip equipment manufacturers were unable to recover the higher R&D spending through increasing selling prices. The resulting erosion in profitability due to increasing R&D spending was compounded by the onset of the 2008–2009 global recession.
The industry responded with increased consolidation in an attempt to cut costs, firm product pricing, and gain access to new technologies. Industry consolidation began among chip manufacturers and later spurred suppliers to combine. In February 2011, chipmaker Texas Instruments bought competitor National Semiconductor for $6.5 billion. Three months later, Applied Materials, the largest semiconductor chip equipment manufacturer, bought Varian Semiconductor Equipment Associates for $4.9 billion to gain access to new technology. On December 21, 2011, Lam Research Corporation (Lam) agreed to buy rival Novellus Systems Inc. (Novellus) for $3.3 billion. Lam anticipates annual cost savings of $100 million by the end of 2013 due to the elimination of overlapping overhead.
Under the terms of the deal, Lam agreed to acquire Novellus in a share exchange in which Novellus shareholders would receive 1.125 shares of Lam common stock for each Novellus share. The deal represented a 28% premium over the closing price of Novellus’s shares on the day prior to the deal’s public announcement. At closing, Lam shareholders owned about 51% of the combined firms, with Novellus shareholders controlling the rest.
In comparison to earlier industry buyouts, the purchase seemed like a good deal for Lam’s shareholders. At 2.3 times Novellus’s annual revenue, the purchase price was almost one-half the 4.5 multiple paid by industry leader Applied Materials for Variant in May 2011. The purchase premium paid by Lam was one-half of that paid for comparable transactions between 2006 and 2010. Yet Lam shares closed down 4%, and Novellus’ shares closed up 28% on the announcement date.
 Lam and Novellus produce equipment that works at different stages of the semiconductor-manufacturing process, making their products complementary. After the merger, Lam’s product line would be considerably broader, covering more of the semiconductor-manufacturing process. Semiconductor-chip manufacturers are inclined to buy equipment from the same supplier due to the likelihood that the equipment will be compatible. Lam also is seeking access to cutting-edge technology and improved efficiency. Technology exchange between the two firms is expected to help the combined firms to develop the equipment necessary to support the next generation of advanced semiconductors.
Customers of the two firms include such chip makers as Intel and Samsung. By selling complementary products, the firms have significant cross-selling opportunities as equipment suppliers to all 10 chip makers globally. Together, Lam and Novellus are able to gain revenue faster than they could individually by packaging their equipment and by developing their technologies in combination to ensure they work together. Lam has greater penetration with Samsung and Novellus with Intel.
Lam also stated on the transaction announcement date that a $1.6 billion share repurchase program would be implemented within 12 months following closing. The buyback allows shareholders to sell some of their shares for cash such that, following completion of the buyback, the deal could resemble a half-stock, half-cash deal, depending on how many shareholders tender their shares during the buyback program. The share repurchase will be funded out of the firms’ combined cash balances and cash flow. Structuring the deal as an all-stock purchase at closing allows Novellus shareholders to have a tax-free deal.

Discussion Questions:
1. Why did Lam’s shares close down 4 percent on the news? Why did Novellus’ shares close up 28 percent?

Answer: The drop in Lam’s share price reflected current investor concern about potential EPS dilution. The rise in Novellus’s share price by 28 percent reflected the response to the 28 percent purchase price premium and investor confidence that the merger would be completed. When investors are concerned that there is a significant chance a proposed merger will be contested by antitrust authorities, the target firm’s share price often does not increase by the full extent of the price premium reflecting the risk the deal may not go through.  

2. Speculate why Lam used stock rather than some other form of payment?

Answer: Stock may have been used by Lam to avoid taking on additional debt as may have been required in a cash deal. Novellus shareholders may have preferred Lam stock to cash because it would be a tax-free transaction, and they may have believed that shares in the combined firms may have had significant upside growth potential. 
3. Describe how market pressures on semiconductor manufacturers’ impact chip equipment manufacturers and how this merger will help Lam and Novellus better serve their customers in the future.
Answer: Increasing cost pressures, limited ability to raise prices, and growing demands for more complex chips forced consolidation within the semiconductor industry. Suppliers were compelled to combine to remain cost competitive and to gain technologies that would allow them to meet the demands of producing equipment capable of manufacturing more complex chips.

4. How do the high fixed costs in the highly cyclical chip equipment manufacturing industry encourage consolidation?
Answer: High fixed expenses force firms to maintain high operating rates in order to exploit economies of scale, i.e., spreading fixed costs over additional output. Lam may have believed that the additional co-marketing and cross-selling opportunities presented by the merger would result in higher average operating rates for all of its products.
5. Is this deal a merger or a consolidation from a legal standpoint?
Answer: Lam will be the surviving firm. Therefore, the deal should be considered a merger. 
6. Is this deal a horizontal or vertical transaction? What is the significance of this distinction?
Answer: The two firms are not direct competitors since they supply equipment that is used in different phases of the semiconductor chip production process. However, it could still be classified as a horizontal merger since they are potentially direct competitors in that they compete in adjacent markets and could enter each other’s market niche. The importance of this distinction is that synergies are likely to be higher for firms that are direct or near-competitors since they are most likely to overlapping overhead and production activities. Also, the closer firms are to being direct competitors and the larger the resulting market share resulting from their combination, the greater the likelihood that they will be reviewed by antitrust regulators.

7. What are the motives for the deal? Discuss the logic underlying each motive you identify.
Answer:   a.
Economies of scope.

b. Economies of scale in production

c. Bulk purchasing discounts

d. Related diversification into such consumer markets as batteries and razors

e. Increased geographic access to such areas as China and India. 

f. Increased bargaining power with key retailers such as Wal-Mart

8. How are Lam and Novellus similar and how are they different? In what way will their similarities and differences help or hurt the long-term success of the merger?
Answer: The primary differences are that Lam and Novellus produce chip manufacturing equipment in different but adjacent phases of the semiconductor chip manufacturing process, and they have significantly different shares of the equipment purchases of semiconductor industry giants Intel and Samsung. The primary similarities include having the same customers and sharing similar knowledge of the marketplace and common overhead functions. 
The differences will allow for revenue growth by potentially increasing penetration in the largest semiconductor manufacturers by packaging their equipment to be sold together. In addition, they can ensure that their equipment works well together in the same production process because they will be designed to be compatible.  The similarities mean they can co-market their products through a single sales force and share a common overhead. Both will allow for significant cost savings. In addition, since they compete in the same market and produce similar products, the post-closing integration could potentially be smoother because of the shared understanding of the two businesses.
9. Speculate as to why Lam announced a $1.6 billion share repurchase program at the same time it announced the deal.
Answer: The share repurchase was an attempt to minimize EPS dilution resulting from the increase in new shares required by the share exchange with Novelllus and to give Novellus shareholders the choice of converting some of their Lam shares into cash when the buyback program was initiated. 
10. Do you believe this deal would help or hurt competition among semiconductor chip equipment manufacturers?

Answer: The combined companies would result in the fourth largest competitor in the industry. As such, it is not likely to affect pricing adversely.  The combination could affect competition favorably if the resulting cost savings are passed along in the form of lower selling prices and the technology transfer results in improved products. 

V.F. Corp Buys Timberland

__________________________________________________________________________________________      

      Key Points

Acquisitions often are used to change a firm’s product focus rapidly.

Acquisitions of direct competitors often represent significant revenue growth and cost-saving opportunities.

The timely realization of synergies is critical to recovering purchase price premiums.
Widely recognized in the United States and Europe as a maker of rugged outdoor apparel, Timberland (TBL) had stumbled in recent years. Its failure to turn around its money-losing Yellow Boot brand, the limited success of its advertising campaign to encourage consumers to think of Timberland apparel as a year-round brand, and overly ambitious expansion plans in China caused earnings to deteriorate. Despite annual revenues growing to more than $1.6 billion in fiscal year 2011, the firm was losing market share to such competitors as the Gap and Sears Holdings. Timberland’s share price declined as investor confidence in management waned when the firm failed to meet its quarterly earnings forecasts. Timberland was ripe for takeover.
With annual revenue of $7.7 billion, apparel maker V.F. Corporation (VFC), owner of such well-known brands as The North Face, Wrangler, and Lee, was always on the prowl for firms that fit its business strategy. VFC has grown historically by adding highly recognizable brands with significant market share. The strategy has been implemented largely through acquisition rather than through partnering with others or developing its own brands. Furthermore, the firm was shifting its product offering toward the rapidly growing outdoor-apparel business.
With its focus on outdoor apparel, Timberland became a highly attractive target, especially as its share price declined. VFC pounced on the opportunity to add the highly recognizable Timberland trademark to its product portfolio. On June 13, 2011, VFC announced that it had reached an agreement to pay TBL shareholders $43 per share in an all-cash deal, a 43% premium over the prior day’s closing price. The deal valued TBL at about $2 billion.
Including the Timberland acquisition, VFC’s outdoor and action sports product lines were expected to contribute about one-half of the firm’s total annual revenue in 2012, ultimately rising by more than 60% by 2015. In buying Timberland, VFC gained access to new retail outlets and the opportunity to better position TBL as a lifestyle brand in the apparel and accessories market. VFC also hoped to use TBL’s rapidly growing online business to help it achieve its online sales goal of more than $400 million by 2015, more than three times their 2011 total. VFC hoped to accelerate the growth in TBL product sales by expanding their availability through its own e-commerce site and through its international operations. Likewise, VFC expected to achieve substantially larger discounts on raw material purchases than TBL because of its larger bulk purchases and to reduce overhead expenses by eliminating redundant positions.

Xerox Buys ACS to Satisfy Shifting Customer Requirements

In anticipation of a shift from hardware and software spending to technical services by their corporate customers, IBM announced an aggressive move away from its traditional hardware business and into services in the mid-1990s. Having sold its commodity personal computer business to Chinese manufacturer Lenovo in mid-2005, IBM became widely recognized as a largely “hardware neutral” systems integration, technical services, and outsourcing company.

Because information technology (IT) services have tended to be less cyclical than hardware and software sales, the move into services by IBM enabled the firm to tap a steady stream of revenue at a time when customers were keeping computers and peripheral equipment longer to save money. The 2008–2009 recession exacerbated this trend as corporations spent a smaller percentage of their IT budgets on hardware and software. 

These developments were not lost on other IT companies. Hewlett-Packard (HP) bought tech services company EDS in 2008 for $13.9 billion. On September 21, 2009, Dell announced its intention to purchase another IT services company, Perot Systems, for $3.9 billion. One week later, Xerox, traditionally an office equipment manufacturer announced a cash and stock bid for Affiliated Computer Systems (ACS) totaling $6.4 billion. 

Each firm was moving to position itself as a total solution provider for its customers, achieving differentiation from its competitors by offering a broader range of both hardware and business services. While each firm focused on a somewhat different set of markets, they all shared an increasing focus on the government and healthcare segments. However, by retaining a large proprietary hardware business, each firm faced challenges in convincing customers that they could provide objectively enterprise-wide solutions that reflected the best option for their customers. 

Previous Xerox efforts to move beyond selling printers, copiers, and supplies and into services achieved limited success due largely to poor management execution. While some progress in shifting away from the firm’s dependence on printers and copier sales was evident, the pace was far too slow. Xerox was looking for a way to accelerate transitioning from a product-driven company to one whose revenues were more dependent on the delivery of business services.

With annual sales of about $6.5 billion, ACS handles paper-based tasks such as billing and claims processing for governments and private companies. With about one-fourth of ACS’s revenue derived from the healthcare and government sectors through long-term contracts, the acquisition gives Xerox a greater penetration into markets which should benefit from the 2009 government stimulus spending and 2010 healthcare legislation. More than two-thirds of ACS’s revenue comes from the operation of client back office operations such as accounting, human resources, claims management, and other business management outsourcing services, with the rest coming from providing technology consulting services. ACS would also triple Xerox’s service revenues to $10 billion. 

Xerox hopes to increases its overall revenue by bundling its document management services with ACS’s client back office operations. Only 20 percent of the two firms’ customers overlap. This allows for significant cross-selling of each firm’s products and services to the other firm’s customers. Xerox is also betting that it can apply its globally recognized brand and worldwide sales presence to expand ACS internationally. 

A perceived lack of synergies between the two firms, Xerox’s rising debt levels, and the firm’s struggling printer business fueled concerns about the long-term viability of the merger, sending Xerox’s share price tumbling by almost 10 percent on the news of the transaction. With about $1 billion in cash at closing in early 2010, Xerox needed to borrow about $3 billion. Standard & Poor’s credit rating agency downgraded Xerox’s credit rating to triple-B-minus, one notch above junk. 

Integration is Xerox’s major challenge. The two firms’ revenue mixes are very different, as are their customer bases, with government customers often requiring substantially greater effort to close sales than Xerox’s traditional commercial customers. Xerox intends to operate ACS as a standalone business, which will postpone the integration of its operations consisting of 54,000 employees with ACS’s 74,000. If Xerox intends to realize significant incremental revenues by selling ACS services to current Xerox customers, some degree of integration of the sales and marketing organizations would seem to be necessary.

It is hardly a foregone conclusion that customers will buy ACS services simply because ACS sales representatives gain access to current Xerox customers. Presumably, additional incentives are needed, such as some packaging of Xerox hardware with ACS’s IT services. However, this may require significant price discounting at a time when printer and copier profit margins already are under substantial pressure.

Customers are likely to continue, at least in the near term, to view Xerox, Dell, and HP more as product than service companies. The sale of services will require significant spending to rebrand these companies so that they will be increasingly viewed as service vendors. The continued dependence of all three firms on the sale of hardware may retard their ability to sell packages of hardware and IT services to customers. With hardware prices under continued pressure, customers may be more inclined to continue to buy hardware and IT services from separate vendors to pit one vendor against another. Moreover, with all three firms targeting the healthcare and government markets, pressure on profit margins could increase for all three firms. The success of IBM’s services strategy could suggest that pure IT service companies are likely to perform better in the long run than those that continue to have a significant presence in both the production and sale of hardware as well as IT services. 

Discussion Questions:

1. Discuss the advantages and disadvantages of Xerox’s intention to operate ACS as a standalone business. As an investment banker supporting Xerox, would you have argued in support of integrating ACS immediately, at a later date, or to keep the two businesses separate indefinitely? Explain your answer.

Answer: The decision to operate ACS as a standalone unit may have been required to gain ACS and board management support. Furthermore, operating ACS as a separate entity helps to preserve the brand and corporate culture of the firm as distinctly separate from customer perception of Xerox as a product company. The major drawbacks of managing ACS in this manner is that it inhibits the ability to realize cost savings by eliminating duplicate overhead and in coordinating sales force activities. Efforts to achieve cross-selling of ACS products to Xerox customers will require close coordination or integration of the two sales forces. A lack of a coordinated effort is likely to confuse and frustrate customers. 

Assuming that Xerox was contractually bound to keep ACS separate, I would have recommended moving quickly to eliminate duplicate overhead activities and to integrate the marketing and selling organizations of the two firms in order to realize anticipated synergies. Moreover, co-location of functions and the transfer of personnel between the two organizations would facilitate both technology transfer and the ability to adopt the “best of breed” practices. 

2. How are Xerox and ACS similar and how are they different? In what way will their similarities and differences help or hurt the long-term success of the merger?

Answer: Xerox is a product company and ACS is a services firm.  Product firms are more familiar with the manufacturing, sale, and servicing of tangible products. The way in which products are sold and serviced is different from how services are provided. In contrast, services are delivered in a distinctly different manner, require a distinctly different skill set, and often require substantially different branding. Moreover, there is little customer overlap and Xerox customer base is more geographically diverse. 

Differences between the two firms could enable greater geographic expansion of ACS services. The different skill sets could also encourage technology transfer and learning between the two firms. However, it is likely that Xerox will incur significant expenses in rebranding itself.  

3. Based on your answers to questions 1 and 2, do you believe that investors reacted correctly or incorrectly to the announcement of the transaction?

Answer: Investor reaction seems reasonable in view of the significant differences between the two firms, the limited near-term synergies, the additional debt, and the increasingly competitive IT services market. 
Dell Moves into Information Technology Services

Dell Computer’s growing dependence on the sale of personal computers and peripherals left it vulnerable to economic downturns. Profits had dropped more than 22 percent since the start of the global recession in early 2008 as business spending on information technology was cut sharply. Dell dropped from number 1 to number 3 in terms of market share, as measured by personal computer unit sales, behind lower-cost rivals Hewlett-Packard and Acer. Major competitors such as IBM and Hewlett-Packard were less vulnerable to economic downturns because they derived a larger percentage of their sales from delivering services. 
     Historically, Dell has grown “organically” by reinvesting in its own operations and through partnerships targeting specific products or market segments. However, in recent years, Dell attempted to “supercharge” its lagging growth through targeted acquisitions of new technologies. Since 2007, Dell has made ten comparatively small acquisitions (eight in the United States), purchased stakes in four firms, and divested two companies. The largest previous acquisition for Dell was the purchase of EqualLogic for $1.4 billion in 2007. 

     The recession underscored what Dell had known for some time. The firm had long considered diversifying its revenue base from the more cyclical PC and peripherals business into the more stable and less commodity-like computer services business. In 2007, Dell was in discussions about a merger with Perot Systems, a leading provider of information technology (IT) services, but an agreement could not be reached.

     Dell’s global commercial customer base spans large corporations, government agencies, healthcare providers, educational institutions, and small and medium firms. The firm’s current capabilities include expertise in infrastructure consulting and software services, providing network-based services, and data storage hardware; nevertheless, it was still largely a manufacturer of PCs and peripheral products. In contrast, Perot Systems offers applications development, systems integration, and strategic consulting services through its operations in the United States and ten other countries. In addition, it provides a variety of business process outsourcing services, including claims processing and call center operations. Perot’s primary markets are healthcare, government, and other commercial segments. About one-half of Perot’s revenue comes from the healthcare market, which is expected to benefit from the $30 billion the U.S. government has committed to spending on information technology (IT) upgrades over the next five years.
     In 2008, Hewlett-Packard (HP) paid $13.9 billion for computer services behemoth, EDS, in an attempt to become a “total IT solutions” provider for its customers. This event, coupled with a very attractive offer price, revived merger discussions with Perot Systems. On September 21, 2009, Dell announced that an agreement had been reached to acquire Perot Systems in an all-cash offer for $30 a share in a deal valued at $3.9 billion. The tender offer (i.e., takeover bid) for all of Perot Systems’ outstanding shares of Class A common stock was initiated in early November and completed on November 19, 2009, with Dell receiving more than 90 percent of Perot’s outstanding shares. 
Mars Buys Wrigley in One Sweet Deal
Under considerable profit pressure from escalating commodity prices and eroding market share, Wrigley Corporation, a U.S. based leader in gum and confectionery products, faced increasing competition from Cadbury Schweppes in the U.S. gum market. Wrigley had been losing market share to Cadbury since 2006. Mars Corporation, a privately owned candy company with annual global sales of $22 billion, sensed an opportunity to achieve sales, marketing, and distribution synergies by acquiring Wrigley Corporation.
     On April 28, 2008, Mars announced that it had reached an agreement to merge with Wrigley Corporation for $23 billion in cash. Under the terms of the agreement, unanimously approved by the boards of the two firms, shareholders of Wrigley would receive $80 in cash for each share of common stock outstanding. The purchase price represented a 28 percent premium to Wrigley's closing share price of $62.45 on the announcement date. The merged firms in 2008 would have a 14.4 percent share of the global confectionary market, annual revenue of $27 billion, and 64,000 employees worldwide. The merger of the two family-controlled firms represents a strategic blow to competitor Cadbury Schweppes's efforts to continue as the market leader in the global confectionary market with its gum and chocolate business. Prior to the announcement, Cadbury had a 10 percent worldwide market share.
     Wrigley would become a separate stand-alone subsidiary of Mars, with $5.4 billion in sales. The deal would help Wrigley augment its sales, marketing, and distribution capabilities. To provide more focus to Mars' brands in an effort to stimulate growth, Mars would transfer its global nonchocolate confectionery sugar brands to Wrigley. Bill Wrigley, Jr., who controls 37 percent of the firm's outstanding shares, would remain executive chairman of Wrigley. The Wrigley management team also would remain in place after closing. The combined companies would have substantial brand recognition and product diversity in six growth categories: chocolate, nonchocolate confectionary, gum, food, drinks, and pet-care products. The resulting confectionary powerhouse also would expect to achieve significant cost savings by combining manufacturing operations and have a substantial presence in emerging markets.
     While mergers among competitors are not unusual, the deal's highly leveraged financial structure is atypical of transactions of this type. Almost 90 percent of the purchase price would be financed through borrowed funds, with the remainder financed largely by a third party equity investor. Mars's upfront costs would consist of paying for closing costs from its cash balances in excess of its operating needs. The debt financing for the transaction would consist of $11 billion and $5.5 billion provided by J.P. Morgan Chase and Goldman Sachs, respectively. An additional $4.4 billion in subordinated debt would come from Warren Buffet's investment company, Berkshire Hathaway, a nontraditional source of high-yield financing. Historically, such financing would have been provided by investment banks or hedge funds and subsequently repackaged into securities and sold to long-term investors, such as pension funds, insurance companies, and foreign investors. However, the meltdown in the global credit markets in 2008 forced investment banks and hedge funds to withdraw from the high-yield market in an effort to strengthen their balance sheets. Berkshire Hathaway completed the financing of the purchase price by providing $2.1 billion in equity financing for a 9.1 percent ownership stake in Wrigley.
Discussion Questions:

1. Why was market share in the confectionery business an important factor in Mars’ decision to acquire Wrigley?

Answer: Firm’s having substantial market relative to their next largest competitor are likely to have lower cost structures due to economies of scale and purchasing, as well as lower sales, general and administrative costs. Such costs can be spread over a larger volume of revenue. Also, the confectionery market is expected to be among the most rapidly growing market and can be expected to accelerate earnings growth and that firm’s share price.  The increased brand recognition also allowed the firm’s to gain additional retail merchant shelf space and to introduce each firm’s traditional customers to the other’s products. 
2. It what way did the acquisition of Wrigley’s represent a strategic blow to Cadbury?

Answer: Not only did this acquisition topple Cadbury from its number one position in the confectionery business but it also eliminated a potential acquisition target for Cadbury. By acquiring Wrigley, Cadbury could have solidified their top spot.


3. How might the additional product and geographic diversity achieved by combining Mars and Wrigley benefit the combined firms?

Answer: The broader array of products from chocolate to gum to pet care could insulate the firm to fluctuations in the business cycle. Traditionally, the impact of a downturn in the economy is comparatively mild on these types of firms.  The greater product and geographic diversity would tend to reduce the effect even further. 

Assessing Procter & Gamble’s Acquisition of Gillette 

The potential seemed almost limitless, as Procter & Gamble Company (P&G) announced that it had completed its purchase of Gillette Company (Gillette) in late 2005. P&G’s chairman and CEO, A.G. Lafley, predicted that the acquisition of Gillette would add one percentage point to the firm’s annual revenue growth rate, while Gillette’s chairman and CEO, Jim Kilts, opined that the successful integration of the two best companies in consumer products would be studied in business schools for years to come. 
Five years after closing, things have not turned out as expected. While cost savings targets were achieved, operating margins faltered due to lagging sales. Gillette’s businesses, such as its pricey razors, have been buffeted by the 2008–2009 recession and have been a drag on P&G’s top line rather than a boost. Moreover, most of Gillette’s top managers have left. P&G’s stock price at the end of 2010 stood about 12 percent above its level on the acquisition announcement date, less than one-fourth the appreciation of the share prices of such competitors as Unilever and Colgate-Palmolive Company during the same period. 
On January 28, 2005, P&G enthusiastically announced that it had reached an agreement to buy Gillette in a share-for-share exchange valued at $55.6 billion. This represented an 18 percent premium over Gillette's preannouncement share price. P&G also announced a stock buyback of $18 billion to $22 billion, funded largely by issuing new debt. The combined companies would retain the P&G name and have annual 2005 revenue of more than $60 billion. Half of the new firm's product portfolio would consist of personal care, healthcare, and beauty products, with the remainder consisting of razors and blades, and batteries. The deal was expected to dilute P&G's 2006 earnings by about 15 cents per share. To gain regulatory approval, the two firms would have to divest overlapping operations, such as deodorants and oral care.
P&G had long been viewed as a premier marketing and product innovator. Consequently, P&G assumed that its R&D and marketing skills in developing and promoting women's personal care products could be used to enhance and promote Gillette's women's razors. Gillette was best known for its ability to sell an inexpensive product (e.g., razors) and hook customers to a lifetime of refills (e.g., razor blades). Although Gillette was the number 1 and number 2 supplier in the lucrative toothbrush and men's deodorant markets, respectively, it has been much less successful in improving the profitability of its Duracell battery brand. Despite its number 1 market share position, it had been beset by intense price competition from Energizer and Rayovac Corp., which generally sell for less than Duracell batteries.
Suppliers such as P&G and Gillette had been under considerable pressure from the continuing consolidation in the retail industry due to the ongoing growth of Wal-Mart and industry mergers at that time, such as Sears and Kmart. About 17 percent of P&G's $51 billion in 2005 revenues and 13 percent of Gillette's $9 billion annual revenue came from sales to Wal-Mart. Moreover, the sales of both Gillette and P&G to Wal-Mart had grown much faster than sales to other retailers. The new company, P&G believed, would have more negotiating leverage with retailers for shelf space and in determining selling prices, as well as with its own suppliers, such as advertisers and media companies. The broad geographic presence of P&G was expected to facilitate the marketing of such products as razors and batteries in huge developing markets, such as China and India. Cumulative cost cutting was expected to reach $16 billion, including layoffs of about 4 percent of the new company's workforce of 140,000. Such cost reductions were to be realized by integrating Gillette's deodorant products into P&G's structure as quickly as possible. Other Gillette product lines, such as the razor and battery businesses, were to remain intact.
P&G's corporate culture was often described as conservative, with a "promote-from-within" philosophy. While Gillette's CEO was to become vice chairman of the new company, the role of other senior Gillette managers was less clear in view of the perception that P&G is laden with highly talented top management. To obtain regulatory approval, Gillette agreed to divest its Rembrandt toothpaste and its Right Guard deodorant businesses, while P&G agreed to divest its Crest toothbrush business. 
The Gillette acquisition illustrates the difficulty in evaluating the success or failure of mergers and acquisitions for acquiring company shareholders. Assessing the true impact of the Gillette acquisition remains elusive, even after five years. Though the acquisition represented a substantial expansion of P&G’s product offering and geographic presence, the ability to isolate the specific impact of a single event (i.e., an acquisition) becomes clouded by the introduction of other major and often uncontrollable events (e.g., the 2008–2009 recession) and their lingering effects. While revenue and margin improvement have been below expectations, Gillette has bolstered P&G’s competitive position in the fast-growing Brazilian and Indian markets, thereby boosting the firm’s longer-term growth potential, and has strengthened its operations in Europe and the United States. Thus, in this ever-changing world, it will become increasingly difficult with each passing year to identify the portion of revenue growth and margin improvement attributable to the Gillette acquisition and that due to other factors. 
Discussion Questions:

1.
Is this deal a merger or a consolidation from a legal standpoint? Explain your answer.


Answer: The deal is a merger in which P&G will be the surviving firm.  

2.
Is this a horizontal or vertical merger?  What is the significance of this distinction? Explain your answer.


Answer: It is a horizontal merger since the two firms are competitors in major product lines.  This distinction is 


important, because the potential for synergies is greatest for firms having the greatest overlap.  However, the


greater the overlap, the greater the likelihood antitrust regulators will require divestiture of overlapping 


businesses before approving the merger.

3.
What are the motives for the deal? Discuss the logic underlying each motive you identify.


Answer:   a.
Economies of scope.

b. Economies of scale in production

c. Bulk purchasing discounts

d. Related diversification into such consumer markets as batteries and razors

e. Increased geographic access to such areas as China and India. 

f. Increased bargaining power with key retailers such as Walmart

4.
Immediately following the announcement, P&G’s share price dropped by 2 percent and Gillette’s share price 
rose by 13 percent.  Explain why this may have happened? 


Answer: P&G’s share price reflected current investor concern about potential EPS dilution. Gillette’s share 
price rose reflecting the 18 percent offer price premium.  The Gillette share price did not rise by the entire 18 
percent because of the possibility the deal will be disallowed by antitrust regulators.

5.

P&G announced that it would be buying back $18 to $22 billion of its stock over the eighteen months 



following closing.  Much of the cash required to repurchase these shares requires significant new borrowing by 

               the new companies.  Explain what P&G’s objective may have been trying to achieve in deciding to repurchase 

               stock?  Explain how the incremental borrowing help or hurt P&G achieve their objectives?


Answer:  The repurchase is an attempt to allay investor fears about EPS dilution. However, the incremental 
borrowing will erode EPS due to the additional interest expense.  Furthermore, by taking on additional debt, 

       P&G may be limiting its future strategic flexibility.

6.
Explain how actions required by antitrust regulators may hurt P&G’s ability to realize anticipated synergy.  
Be 

               specific.


Answer: The divestiture of such businesses would be likely to reduce the projected cost savings generated by 
eliminating duplicate overhead and related activities.  

7.
Explain some of the obstacles that P&G and Gillette are likely to face in integrating the two businesses.  Be 
specific.  How would you overcome these obstacles?

       Answer: The cultures between the two firms may differ significantly.  P&G’s “not invented here” culture may 
make it difficult to transfer skills and technologies between product lines in the two firms.  Gillette managers 
may be de-motivated as they see promotion opportunities limited due to P&G’s tendency to hire from 
within.  The likelihood that regulators will require the divestiture overlapping units will limit the ability to 
realize expected synergies.

       To facilitate integration, P&G needs to communicate their intentions to major stakeholder groups as quickly as 
possible, populate senior positions of the new company with both P&G and Gillette managers, and include 
managers from both firms on integration teams. The new firm may consider selling the razor and battery 
businesses to recover some of the purchase price
The Man Behind the Legend at Berkshire Hathaway 

Although not exactly a household name, Berkshire Hathaway (“Berkshire”) has long been a high flier on Wall Street. The firm’s share price has outperformed the total return on the Standard and Poor’s 500 stock index in 32 of the 36 years that Warren Buffet has managed the firm. Berkshire Hathaway’s share price rose from $12 per share to $71,000 at the end of 2000, an annual rate of growth of 27%. With revenue in excess of $30 billion, Berkshire is among the top 50 of the Fortune 500 companies.

     What makes the company unusual is that it is one of the few highly diversified companies to outperform consistently the S&P 500 over many years. As a conglomerate, Berkshire acquires or makes investments in a broad cross-section of companies. It owns operations in such diverse areas as insurance, furniture, flight services, vacuum cleaners, retailing, carpet manufacturing, paint, insulation and roofing products, newspapers, candy, shoes, steel warehousing, uniforms, and an electric utility. The firm also has “passive” investments in such major companies as Coca-Cola, American Express, Gillette, and the Washington Post.

     Warren Buffet’s investing philosophy is relatively simple. It consists of buying businesses that generate an attractive sustainable growth in earnings and leaving them alone. He is a long-term investor. Synergy among his holdings never seems to play an important role. He has shown a propensity to invest in relatively mundane businesses that have a preeminent position in their markets; he has assiduously avoided businesses he felt that he did not understand such as those in high technology industries. He also has shown a tendency to acquire businesses that were “out of favor” on Wall Street.

     He has built a cash-generating machine, principally through his insurance operations that produce “float” (i.e., premium revenues that insurers invest in advance of paying claims). In 2000, Berkshire acquired eight firms. Usually flush with cash, Buffet has developed a reputation for being nimble. This most recently was demonstrated in his acquisition of Johns Manville in late 2000. Manville generated $2 billion in revenue from insulation and roofing products and more than $200 million in after-tax profits. Manville’s controlling stockholder was a trust that had been set up to assume the firm’s asbestos liabilities when Manville had emerged from bankruptcy in the late 1980s. After a buyout group that had offered to buy the company for $2.8 billion backed out of the transaction on December 8, 2000, Berkshire contacted the trust and acquired Manville for $2.2 billion in cash. By December 20, Manville and Berkshire reached an agreement.

Discussion Questions:

1. To what do you attribute Warren Buffet’s long-term success?

        Answer: He is a long-term investor who buys businesses that are typically leaders in their 

        industries and that he is able to understand.  He also tends to buy “out of favor” businesses that  

        as a result are undervalued.  In that regard, he should be viewed as a value investor.
2. In what ways might Warren Buffet use “financial synergy” to grow Berkshire Hathaway?  Explain your answer.

      Answer: Warren Buffest relies on the strong cash generation capabilities of his existing portfolio

      of businesses to fund new investments.  The synergy arises due to his skill at redeploying these 

      funds into higher return alternative investments.

America Online Acquires Time Warner: 

The Rise and Fall of an Internet and Media Giant

Time Warner, itself the product of the world’s largest media merger in a $14.1 billion deal a decade ago, celebrated its 10th birthday by announcing on January 10, 2000, that it had agreed to be taken over by America Online (AOL) at a 71% premium to its share price on the announcement date. AOL had proposed the acquisition in October 1999. In less than 3 months, the deal, valued at $160 billion as of the announcement date ($178 billion including Time Warner debt assumed by AOL), became the largest on record up to that time. AOL had less than one-fifth of the revenue and workforce of Time Warner, but AOL had almost twice the market value. As if to confirm the move to the new electronic revolution in media and entertainment, the ticker symbol of the new company was changed to AOL. However, the meteoric rise of AOL and its wunderkind CEO, Steve Case, to stardom was to be short-lived.  

     Time Warner is the world’s largest media and entertainment company, and it views its primary business as the creation and distribution of branded content throughout the world. Its major business segments include cable networks, magazine publishing, book publishing and direct marketing, recorded music and music publishing, and filmed entertainment consisting of TV production and broadcasting as well as interests in other film companies. The 1990 merger between Time and Warner Communications was supposed to create a seamless marriage of magazine publishing and film production, but the company never was able to put that vision into place. Time Warner’s stock underperformed the market through much of the 1990s until the company bought the Turner Broadcasting System in 1996. 

Founded in 1985, AOL viewed itself as the world leader in providing interactive services, Web brands, Internet technologies, and electronic commerce services. AOL operates two subscription-based Internet services and, at the time of the announcement, had 20 million subscribers plus another 2 million through CompuServe. 
Strategic Fit (A 1999 Perspective)

On the surface, the two companies looked quite different. Time Warner was a media and entertainment content company dealing in movies, music, and magazines, whereas AOL was largely an Internet Service Provider offering access to content and commerce. There was very little overlap between the two businesses. AOL said it was buying access to rich and varied branded content, to a huge potential subscriber base, and to broadband technology to create the world’s largest vertically integrated media and entertainment company.  At the time, Time Warner cable systems served 20% of the country, giving AOL a more direct path into broadband transmission than it had with its ongoing efforts to gain access to DSL technology and satellite TV. The cable connection would facilitate the introduction of AOL TV, a service introduced in 2000 and designed to deliver access to the Internet through TV transmission. Together, the two companies had relationships with almost 100 million consumers. At the time of the announcement, AOL had 23 million subscribers and Time Warner had 28 million magazine subscribers, 13 million cable subscribers, and 35 million HBO subscribers. The combined companies expected to profit from its huge customer database to assist in the cross promotion of each other’s products.
Market Confusion Following the Announcement

AOL’s stock was immediately hammered following the announcement, losing about 19% of its market value in 2 days. Despite a greater than 20% jump in Time Warner’s stock during the same period, the market value of the combined companies was actually $10 billion lower 2 days after the announcement than it had been immediately before making the deal public. Investors appeared to be confused about how to value the new company. The two companies’ shareholders represented investors with different motivations, risk tolerances, and expectations. AOL shareholders bought their company as a pure play in the Internet, whereas investors in Time Warner were interested in a media company. Before the announcement, AOL’s shares traded at 55 times earnings before interest, taxes, depreciation, and amortization have been deducted. Reflecting its much lower growth rate, Time Warner traded at 14 times the same measure of its earnings. Could the new company achieve growth rates comparable to the 70% annual growth that AOL had achieved before the announcement? In contrast, Time Warner had been growing at less than one-third of this rate.
Integration Challenges
Integrating two vastly different organizations is a daunting task. Internet company AOL tended to make decisions quickly and without a lot of bureaucracy. Media and entertainment giant Time Warner is a collection of separate fiefdoms, from magazine publishing to cable systems, each with its own subculture. During the 1990s, Time Warner executives did not demonstrate a sterling record in achieving their vision of leveraging the complementary elements of their vast empire of media properties. The diverse set of businesses never seemed to reach agreement on how to handle online strategies among the various businesses. 

     Top management of the combined companies included icons such as Steve Case and Robert Pittman of the digital world and Gerald Levin and Ted Turner of the media and entertainment industry. Steve Case, former chair and CEO of AOL, was appointed chair of the new company, and Gerald Levin, former chair and CEO of Time Warner, remained as chair. Under the terms of the agreement, Levin could not be removed until at least 2003, unless at least three-quarters of the new board consisting of eight directors from each company agreed. Ted Turner was appointed as vice chair. The presidents of the two companies, Bob Pittman of AOL and Richard Parsons of Time Warner, were named co-chief operating officers (COOs) of the new company.   Managers from AOL were put into many of the top management positions of the new company in order to “shake up” the bureaucratic Time Warner culture.

     None of the Time Warner division heads were in favor of the merger.  They resented having been left out of the initial negotiations and the conspicuous wealth of Pittman and his subordinates.  More profoundly, they did not share Levin’s and Case’s view of the digital future of the combined firms. To align the goals of each Time Warner division with the overarching goals of the new firm, cash bonuses based on the performance of the individual business unit were eliminated and replaced with stock options.  The more the Time Warner division heads worked with the AOL managers to develop potential synergies, the less confident they were in the ability of the new company to achieve its financial projections (Munk: 2004, pp. 198-199).

     The speed with which the merger took place suggested to some insiders that neither party had spent much assessing the implications of the vastly different corporate cultures of the two organizations and the huge egos of key individual managers.  Once Steve Case and Jerry Levin reached agreement on purchase price and who would fill key management positions, their subordinates were given one weekend to work out the “details.”  These included drafting a merger agreement and accompanying documents such as employment agreements, deal termination contracts, breakup fees, share exchange processes, accounting methods, pension plans, press releases, capital structures, charters and bylaws, appraisal rights, etc.  Investment bankers for both firms worked feverishly on their respective fairness opinions.  While never a science, the opinions had to be sufficiently compelling to convince the boards and the shareholders of the two firms to vote for the merger and to minimize postmerger lawsuits against individual directors.  The merger would ultimately generate $180 million in fees for the investment banks hired to support the transaction.  (Munk: 2004, pp. 164-166).
The Disparity Between Projected and Actual Performance Becomes Apparent

Despite all the hype about the emergence of a vertically integrated new media company, AOL seems to be more like a traditional media company, similar to Bertelsmann in Germany, Vivendi in France, and Australia’s News Corp. A key part of the AOL Time Warner strategy was to position AOL as the preeminent provider of high-speed access in the world, just as it is in the current online dial-up world. 

     Despite pronouncements to the contrary, AOL Time Warner seems to be backing away from its attempt to become the premier provider of broadband services. The firm has had considerable difficulty in convincing other cable companies, who compete directly with Time Warner Communications, to open up their networks to AOL. Cable companies are concerned that AOL could deliver video over the Internet and steal their core television customers. Moreover, cable companies are competing head-on with AOL’s dial-up and high-speed services by offering a tiered pricing system giving subscribers more options than AOL. 

     At $23 billion at the end of 2001, concerns mounted about AOL’s leverage. Under a contract signed in March 2000, AOL gave German media giant Bertelsmann, an owner of one-half of AOL Europe, a put option to sell its half of AOL Europe to AOL for $6.75 billion. In early 2002, Bertelsmann gave notice of its intent to exercise the option. AOL had to borrow heavily to meet its obligation and was stuck with all of AOL Europe’s losses, which totaled $600 million in 2001. In late April 2002, AOL Time Warner rocked Wall Street with a first quarter loss of $54 billion.  Although investors had been expecting bad news, the reported loss simply reinforced anxieties about the firm’s ability to even come close to its growth targets set immediately following closing. Rather than growing at a projected double-digit pace, earnings actually declined by more than 6% from the first quarter of 2001. Most of the sub-par performance stemmed from the Internet side of the business. What had been billed as the greatest media company of the twenty-first century appeared to be on the verge of a meltdown! 
Epilogue

The AOL Time Warner story went from a fairy tale to a horror story in less than three years. On January 7, 2000, the merger announcement date, AOL and Time Warner had market values of $165 billion and $76 billion, respectively, for a combined value of $241 billion.  By the end of 2004, the combined value of the two firms slumped to about $78 billion, only slightly more than Time Warner’s value on the merger announcement date.  This dramatic deterioration in value reflected an ill-advised strategy, overpayment, poor integration planning, slow post-merger integration, and the confluence of a series of external events that could not have been predicted when the merger was put together.  Who knew when the merger was conceived that the dot-com bubble would burst, that the longest economic boom in U.S. history would fizzle, and that terrorists would attach the World Trade Center towers?  While these were largely uncontrollable and unforeseeable events, other factors were within the control of those who engineered the transaction.   

     The architects of the deal were largely incompatible, as were their companies. Early on, Steve Case and Jerry Levin were locked in a power struggle.  The companies’ cultural differences were apparent early on when their management teams battled over presenting rosy projections to Wall Street. It soon became apparent that the assumptions underlying the financial projections were unrealistic as new online subscribers and advertising revenue stalled.  By mid 2002, the nearly $7 billion paid to buy out Bertelsmann’s interest in AOL Europe caused the firm’s total debt to balloon to $28 billion.  The total net loss, including the write down of goodwill, for 2002 reached $100 billion, the largest corporate loss in U.S. history.  Furthermore, The Washington Post uncovered accounting improprieties. The strategy of delivering Time Warner’s rich array of proprietary content online proved to be much more attractive in concept than in practice.  Despite all the talk about culture of cooperation, business at Time Warner was continuing as it always had. Despite numerous cross-divisional meetings in which creative proposals were made, nothing happened (Munk: 2004, p. 219).  AOL’s limited broadband capability and archaic email and instant messaging systems encouraged erosion in its customer base and converting the wealth of Time Warner content to an electronic format proved to be more daunting than it had appeared.  Finally, Both the Securities and Exchange Commission and the Justice Department investigated AOL Time Warner due to accounting improprieties.  The firm admitted having inflated revenue by $190 million during the 21 month period ending in fall of 2000.  Scores of lawsuits have been filed against the firm. 

     The resignation of Steve Case in January 2003 marked the restoration of Time Warner as the dominant partner in the merger, but with Richard Parsons at the new CEO. On October 16, 2003 the company was renamed Time Warner.  Time Warner seemed appeared to be on the mend.  Parson’s vowed to simplify the company by divesting non-core businesses, reduce debt, boost sagging morale, and to revitalize AOL.  By late 2003, Parsons had reduced debt by more than $6 billion, about $2.6 billion coming from the sale of Warner Music and another $1.2 billion from the sale of its 50% stake in the Comedy Central cable network to the network’s other owner, Viacom Music.  With their autonomy largely restored, Time Warner’s businesses were beginning to generate enviable amounts of cash flow with a resurgence in advertising revenues, but AOL continued to stumble having lost 2.6 million subscribers during 2003.  In mid-2004, improving cash flow enabled the Time Warner to acquire Advertising.com for $435 million in cash. 

Discussion Questions:
1. What were the primary motives for this transaction?  How would you categorize them in terms of the historical motives for mergers and acquisitions discussed in this chapter?

AOL is buying access to branded products, a huge potential subscriber base, and broadband technology.  The new company will be able to deliver various branded content to a diverse set of audiences using high-speed transmission channels (e.g., cable).

              This transaction reflects many of the traditional motives for combining businesses:

a. Improved operating efficiency resulting from both economies of scale and scope.  With respect to so-called back office operations, the merging of data, call centers and other support operations will enable the new company to sustain the same or a larger volume of subscribers with lower overall fixed expenses.  Time Warner will also be able to save a considerable amount of expenditures on information technology by sharing AOL’s current online information infrastructure and network to support the design, development and operation of web sites for its various businesses.  Advertising and promotion spending should be more efficient, because both AOL and Time Warner can promote their services to the other’s subscribers at minimal additional cost. 

b. Diversification.  From AOL’s viewpoint, it is integrating down the value chain by acquiring a company that produces original, branded content in the form of magazines, music, and films.  By owning this content, AOL will be able to distribute it without having to incur licensing fees.

c. Changing technology. First, the trend toward the use of digital rather than analog technology is causing many media and entertainment firms to look to the Internet as a highly efficient way to market and distribute their products. Time Warner had for several years been trying to develop an online strategy with limited success.  AOL represented an unusual opportunity to “leap frog” the competition.  Second, the market for online services is clearly shifting away from current dial-up access to high-speed transmission. By gaining access to Time Warner’s cable network, enhanced to carry voice, video, and data, AOL will be able to improve both upload and download speeds for its subscribers.  AOL has priced this service at a premium to regular dial-up subscriptions.  

d. Hubris.  AOL was willing to pay a 71 percent premium over Time Warner’s current share price to gain control.  This premium is very high by historical standards and assumes that the challenges inherent in making this merger work can be overcome.  The overarching implicit assumption is that somehow the infusion of new management into Time Warner can result in the conversion of what is essentially a traditional media company into an internet powerhouse. 

e. A favorable regulatory environment.  Growth on the internet has been fostered by the lack of government regulation.  The FCC has ruled that ISPs are not subject to local phone company access charges, e-commerce transactions are not subject to tax, and restrictions on the use of personal information have been limited.

2. Although the AOL-Time Warner deal is referred to as an acquisition in the case, why is it technically more correct to refer to it as a consolidation?  Explain your answer. 

A consolidation refers to two or more businesses combining to form a third company, with no participating firm retaining its original identity.  The newly formed company assumes all the assets and liabilities of both companies.  Shareholders in both companies exchange their shares for shares in the new company.

3. Would you classify this business combination as a horizontal, vertical, or conglomerate transaction?  Explain your answer.

If one defines the industry broadly as media and entertainment, this transaction could be described as a vertical transaction in which AOL is backward integrating along the value chain to gain access to Time Warner’s proprietary content and broadband technology. However, a case could be made that it also has many of the characteristics of a conglomerate.  If industries are defined more narrowly as magazine and book publishing, cable TV, film production, and music recording, the new company could be viewed as a conglomerate.

4. What are some of the reasons AOL Time Warner may fail to satisfy investor expectations?

While AOL has control of the new company in terms of ownership, the extent to which they can exert control in practice may be quite different.  AOL could become a captive of the more ponderous Time Warner empire and its 82,000 employees.  Time Warner’s management style and largely independent culture, as evidenced by their limited success in leveraging the assets of Time and Warner Communications following their 1990 merger, could rob AOL of its customary speed, flexibility, and entrepreneurial spirit.  The key to the success of the new companies will be how quickly they will be able to get new Web applications involving Time Warner content up and operating. Decision-making may slow to a halt if top management cannot cooperate.  Roles and responsibilities at the top were ill defined in order to make the combination acceptable to senior management at both firms.  It will take time for the managers with the dominant skills and personalities to more clearly define their roles in the new company. 

5. What would be an appropriate arbitrage strategy for this all-stock transaction?

Arbitrageurs make a profit on the difference between a deal’s offer price and the current price of the target’s stock.  Following a merger announcement, the target’s stock price normally rises but not to the offer price reflecting the risk that the transaction will not be consummated.  The difference between the offer price and the target’s current stock price is called a discount or spread.  In a cash transaction, the arb can lock in this spread by simply buying the target’s stock.  In a share for share exchange, the arb protects or hedges against the possibility that the acquirer’s stock might decline by selling the acquirer’s stock short.  In the short sale, the arb instructs her broker to sell the acquirer’s shares at a specific price.  The broker loans the arb the shares and obtains the stock from its own inventory or borrows it from a customer’s margin account or from another broker.  If the acquirer’s stock declines in price, the short seller can buy it back at the lower price and make a profit; if the stock increases, the short seller incurs a loss.
 Mattel Overpays for The Learning Company

Despite disturbing discoveries during due diligence, Mattel acquired The Learning Company (TLC), a leading developer of software for toys, in a stock-for-stock transaction valued at $3.5 billion on May 13, 1999. Mattel had determined that TLC’s receivables were overstated because product returns from distributors were not deducted from receivables and its allowance for bad debt was inadequate. A $50 million licensing deal also had been prematurely put on the balance sheet. Finally, TLC’s brands were becoming outdated. TLC had substantially exaggerated the amount of money put into research and development for new software products. Nevertheless, driven by the appeal of rapidly becoming a big player in the children’s software market, Mattel closed on the transaction aware that TLC’s cash flows were overstated. 

     For all of 1999, TLC represented a pretax loss of $206 million. After restructuring charges, Mattel’s consolidated 1999 net loss was $82.4 million on sales of $5.5 billion. TLC’s top executives left Mattel and sold their Mattel shares in August, just before the third quarter’s financial performance was released. Mattel’s stock fell by more than 35% during 1999 to end the year at about $14 per share. On February 3, 2000, Mattel announced that its chief executive officer (CEO), Jill Barrad, was leaving the company.

     On September 30, 2000, Mattel virtually gave away The Learning Company to rid itself of what had become a seemingly intractable problem. This ended what had become a disastrous foray into software publishing that had cost the firm literally hundreds of millions of dollars. Mattel, which had paid $3.5 billion for the firm in 1999, sold the unit to an affiliate of Gores Technology Group for rights to a share of future profits. Essentially, the deal consisted of no cash upfront and only a share of potential future revenues. In lieu of cash, Gores agreed to give Mattel 50 percent of any profits and part of any future sale of TLC. In a matter of weeks, Gores was able to do what Mattel could not do in a year. Gores restructured TLC’s seven units into three, set strong controls on spending, sifted through 467 software titles to focus on the key brands, and repaired relationships with distributors. Gores also has sold the entertainment division.
Discussion Questions:
1.
Why did Mattel disregard the warning signs uncovered during due diligence?  Identify which motives for  

      
 acquisitions discussed in this chapter may have been at work.
Answer: Deeply concerned about the increasingly important role that software was playing in the development and marketing of toys, Mattel may have been frantic to acquire a leading maker of software for toys to remain competitive.  The presumption seems to have been that it made much more sense to buy another company than to develop the software in-house because an acquisition would be much faster.  Motives for the acquisition included hubris in that Mattel, knowing that they were acquiring a host of problems, simply assumed that they would be able to fix them. The acquisition also represented a strategic realignment in that they were taking the company into a new direction in employing software more than they had in the past. 

2.
Was this related or unrelated diversification for Mattel?  How might this have influenced the outcome?
Answer: The Learning Company represented the application of software to the toy industry; however, it was still a software company.  Mattel was in a highly unrelated business.  Mattel’s lack of understanding of the business probably contributed to their naiveté in going ahead with the acquisition, despite knowing the problems they were inheriting 

3.
Why could Gores Technology do in a matter of weeks what the behemoth toy company, Mattel, could not
do?
Answer: Gores was in the business of turning around companies.  They knew what to do and appreciated the need for speed.  Gores also exhibited the ability that eluded Mattel to make quick decisions.  Mattel may have been slow to make the needed changes because that could have been seen by investors as an admission by Mattel’s management that they had made a mistake in buying The Learning Company.

Pfizer Acquires Pharmacia to Solidify Its Top Position

In 1990, the European and U.S. markets were about the same size; by 2000, the U.S. market had grown to twice that of the European market. This rapid growth in the U.S. market propelled American companies to ever increasing market share positions. In particular, Pfizer moved from 14th in terms of market share in 1990 to the top spot in 2000. With the acquisition of Pharmacia in 2002, Pfizer’s global market share increased by three percentage points to 11%.  The top ten drug firms controlled more than 50 percent of the global market, up from 22 percent in 1990.

     Pfizer is betting that size is what matters in the new millennium. As the market leader, Pfizer was finding it increasingly difficult to sustain the double-digit earnings growth demanded by investors. Such growth meant the firm needed to grow revenue by $3-$5 billion annually while maintaining or improving profit margins.  This became more difficult due to the skyrocketing costs of developing and commercializing new drugs.  Expiring patents on a number of so-called blockbuster drugs (i.e., those with potential annual sales of more than $1 billion) intensified pressure to bring new drugs to market.  

     Pfizer and Pharmacia knew each other well. They had been in a partnership since 1998 to market the world’s leading arthritis medicine and the 7th largest selling drug globally in terms of annual sales in Celebrex. The companies were continuing the partnership with 2nd generation drugs such as Bextra launched in the spring of 2002. For Pharmacia’s management, the potential for combining with Pfizer represented a way for Pharmacia and its shareholders to participate in the biggest and fastest growing company in the industry, a firm more capable of bringing more products to market than any other. 

     The deal offered substantial cost savings, immediate access to new products and markets, and access to a number of potentially new blockbuster drugs. Projected cost savings are $1.4 billion in 2003, $2.2 billion in 2004, and $2.5 billion in 2005 and thereafter.  Moreover, Pfizer gained access to four more drug lines with annual revenue of more than $1 billion each, whose patents extend through 2010. That gives Pfizer, a portfolio, including its own, of 12 blockbuster drugs. The deal also enabled Pfizer to enter three new markets, cancer treatment, ophthalmology, and endocrinology.  Pfizer expects to spend $5.3 billion on R&D in 2002.  Adding Pharmacia’s $2.2 billion brings combined company spending to $7.5 billion annually. With an enlarged research and development budget Pfizer hopes to discover and develop more new drugs faster than its competitors. 

     On July 15, 2002, the two firms jointly announced they had agreed that Pfizer would exchange 1.4 shares of its stock for each outstanding share of Pharmacia stock or $45 a share based on the announcement date closing price of Pfizer stock.  The total value of the transaction on the announcement was $60 billion. The offer price represented a 38% premium over Pharmacia’s closing stock price of $32.59 on the announcement date.  Pfizer’s shareholders would own 77% of the combined firms and Pharmcia’s shareholders 23%. The market punished Pfizer, sending its shares down $3.42 or 11% to $28.78 on the announcement date. Meanwhile, Pharmacia’s shares climbed $6.66 or 20% to $39.25.

Discussion Questions:

1. In your judgment, what were the primary motivations for Pfizer wanting to acquire Pharmacia? Categorize these in terms of the primary motivations for mergers and acquisitions discussed in this chapter.
Answer:  The deal was an attempt to generate cost savings from being able to operate manufacturing facilities at a higher average rate (economies of scale), to share common resources such as R&D and staff/overhead activities (economies of scope), gain access to new drugs in the Pharmacia pipeline (related diversification), gain pricing power (market power), and a sense that Pfizer could operate the Pharmacia assets better (hubris).  Pfizer seems to believe that “bigger is better” in this high fixed cost industry.  Also, with many patents on existing drugs expiring, the firm is hopeful of gaining access to what could be future “blockbuster” drugs.
2. Why do you think Pfizer’s stock initially fell and Pharmacia’s increased? 
Answer:  As a share swap, the drop in Pfizer’s share price reflected investors’ concern about potential future EPS dilution.  Pharmacia’s share price hike reflected the generous 38% premium Pfizer was willing to pay for Pharmacia’s stock.
3. In your opinion, is this transaction likely to succeed or fail to meet investor expectations? Explain your answer.
Answer:  The size of the premium Pfizer is willing to pay may suggest that it is overpaying for Pharmacia and will find it difficult to meet or exceed its cost of capital.  While it is true that the combination of the two firms will generate significant cost savings, it is less clear if the combined R&D budgets will result in the development of many potential “blockbuster” drugs.  The hurdles that await Pfizer will include melding the two cultures and combating bureaucratic inertia and indecisiveness that often accompany extremely large firms.
4. Would you anticipate continued consolidation in the global pharmaceutical industry?  Why or why not?
Answer: With the industry focused on growth in EPS, increasing consolidation is likely as firms seek to generate cost savings by buying a competitor, by gaining access to hopefully more productive R&D departments, and by acquiring patents for drugs that could be added to their portfolios.   In addition, by buying foreign firms, pharmaceutical firms are engaging in geographic diversification. However, with the global pharmaceutical market growing at a less than a double-digit rate, it is unlikely that individual firms can generate sustainable double-digit earnings growth.
� While Google paid $12.5 billion for Motorola and sold it for $2.91 billion, the loss is much less than it would appear. When Google acquired Motorola, it had $3 billion in cash on hand and $1 billion in tax credits, enabling the firm to reduce its consolidated tax liability by that amount. In addition, Google sold Motorola’s set-top business for $2.4. The amount of the loss will depend on how the firm values the intellectual property acquired with Motorola.


� Google views its members (customers) as the over 1 million businesses that post advertisements on its websites; partners consist of website publishers on whose sites Google posts advertisements and with whom Google shares revenue from those advertisements. At 69% of total Google revenue, advertising revenue from Google websites grew at 34% in 2011, while advertising revenue from its members contributed 27% of total and grew by 18%.


� Apple, Microsoft, and Oracle accused Google or the companies that use its Android operating system in the handsets they manufacture, such as Motorola and HTC, a Taiwan handset maker, of infringing on their patents. Each has filed its own patent infringement lawsuit. In late 2012, Apple won its U.S. patent case against Samsung.





� When target firm shareholders receive primarily acquirer company stock in exchange for their stock, the transaction is tax free to the target firm’s shareholders. That is, they do not have to pay tax on any gain until they decide to sell their stock. This may be more appealing to target shareholders, because it gives them the choice of holding stock to defer tax payments on any gains realized when the shares are sold or taking cash by selling shares during the firm’s buyback program.
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